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Question Number : 1 Question Id : 6463509728 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following is a social characteristic of a learner?

(1) Power of sensory perception (2) Thinking ability
(3) Power of synthetic imagination (4) Ability to relate oneself with others
Options:

E4E350238299. 1
64535038200, 2



E4535038201. 3
E4E35038202. 4

Question Number : 1 Question Id : 6463509728 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4E350238299. 1
64535038200, 2
64535038201, 2
6453503830z, 4

Question Number : 2 Question Id : 6463509729 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which i1s the characteristic of formative evaluation?

(1) Evaluation occurs at the terminal point
(2) Evaluation 1s used before programme design
(3) Evaluation relates to indicating learning outecome of teaching
(4) Evaluation is conducted during teaching
Options:
64535038303, 1
645350258304, 2
E4E35038205. 3
E4E35038206. 4

Question Number : 2 Question Id : 6463509729 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535028202, 1

64535028204, 2

64535033305, 3

64535038306, 4

Question Number : 3 Question Id : 6463509730 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘Cone of Experience’ related to teaching-learning was suggested by
(1) John Dewey (2) Kilpatrick
(3) Froebel {4) Edgar Dale



Options:

64535038207, 1
48350383208, 2
4535028209 2
645350238210, 4

Question Number : 3 Question Id : 6463509730 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E350238207. 1
64535038208, 2
64535038209, 3
645350258310, 4

Question Number : 4 Question Id : 6463509731 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The field of study which uses role playing, simulation and self-evaluation as strategies for
adult learners is known as

(1) Pedagogy (2) Andragogy
(3) Anthropology {4) Psychology
Options:

E4E35038211. 1
E4E35038212. 2
64535038213, 3
645350358214, 4

Question Number : 4 Question Id : 6463509731 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535038311, 1
64535038312, 2
E4E35038213. 3
E4E35038214. 4

Question Number : 5 Question Id : 6463509732 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which among the following is a non-cognitive characteristic of learner?

(1) Recalling {2) Problem solving

(3) Identifying important sensory nputs (4) Believing what is true

Options:
645350358315, 1

E4E35038216. 2
E4E35038217. 3
645350382158, 4

Question Number : 5 Question Id : 6463509732 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
fefateEa § & 19 9 s <t -gaererss faema 27
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Options:

645350238215, 1
64535038216, 2
64535038217, 3
E4E3503821E. 4

Question Number : 6 Question Id : 6463509733 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following research formats focusses on hypothesis testing and generalisations?

(1) Experimental and ex-post facto research
i(2) Intervention based action research
(3) Phenomenalogical and narrative research

(4) Case study research

Options:

4835038219, 1
E4E35028220. 2
64535038321, 5
64535038322, 4

Question Number : 6 Question Id : 6463509733 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
54635038319, 1
CAEZE03E320. 2
C4AEZE038321. 2
4525038322 4

Question Number : 7 Question Id : 6463509734 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following action sets best represent an action research cvele?

(1) Reflect, act, plan and observe (2) Plan, act, observe and reflect
(3) Observe, plan, reflect and act {4) Act, plan, observe and reflect
Options:

645350382323, 1
64535038324, 2
64535038325, 3
EAE35038326. 4

Question Number : 7 Question Id : 6463509734 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635038323, 1
E4E35038324. 2
6453502358225, 5
64535038326, 4

Question Number : 8 Question Id : 6463509735 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following is the main feature of qualitative research?

] Avolds positivist assumptions and data analysis
(2) Subscribes to pre-existing categories
(3) Collects data in numerical form

(4) Uses empirical method of data analysis

Options:
64535038327, 1
64535038328, 2



EAE350382329. 3
E4535038220. 4

Question Number : 8 Question Id : 6463509735 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64635038327, 1

64635038328, 2

£4635038329. 3

£4835038330. 4

Question Number : 9 Question Id : 6463509736 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A good review of research literature aims at
] Subjective analysis of the content
(2) Provides information about the authors and thewr affilhations
(3) GGenerates research questions and validating those gquestions
(4) Conducts multiple task based screening

Options:

6453503833101

E4AR3E038322. 2

64535038333, 2

6453502823354, 4

Question Number : 9 Question Id : 6463509736 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64835038231, 1
4535028232 2
645350382322,
645350382334, 4

Question Number : 10 Question Id : 6463509737 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A researcher fails to reject the null hypothesis (Ho) in his/her research. What implications
will it carry for his/her principal research hypothesis?

(1) Accepting the research hypothesis

(2) Rejecting the research hypothesis

(3) Not talang any decision on the research hypothesis
(4) Improving the research hypothesis

Options:

64535038535, 1

646535038336, 2

64535033337, 3

645350238538, 4

Question Number : 10 Question Id : 6463509737 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
64635038335, 1
4635038336, 2
64535028237, 5
64535038228, 4

Sub-Section Number : 2
Sub-Section I1d: 646350462
Question Shuffling Allowed : Yes

Question Id : 6463509738 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Cesticn Label | Comprehension



Read the following passage and answer guestions:

There 15 a common thread running through the unravelling of India’s statistical
system. A modern economy with sound institutions is characterised by timely dissemination
of credible data. A long term policy needs an empirical basis and issues of veracity of data
will influence investment decisions. In a country with a large population of vouth, data on
national development, especially in core sectors like agriculture, industry, health, education
and employment, will be critical Here comes the role of National Statistical Commission, a
body created to establish standards. Questioning the data veracity is a global phenomenon.
The official narrative is always guestioned by the people on the other side of the fence.
Dissemination of economic data is essential to reach out to the public who lived their reality.
Lack of data will adversely impact the quality of national policies. India must start
strengthening institutions such as the central statistical eommission. These Institutions
must be granted autonomy and insulated from external interferences. Enhanced operational
autonomy will make their work credible. An indicator of operational autonomy is their
ability to stick to a dissemination calendar regardless of what the data indicates.

Sub questions

Question Number : 11 Question Id : 6463509739 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What is important for a modern economy?

(1) A common thread

(2) Dissemination of credible data
(3) Unravelling of statistical svstem
(4) Selective distribution of data
Options:

64535038339, 1

64535038540, 2

64635038341, 3

64535033342, 4

Question Number : 12 Question Id : 6463509740 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Investment decisions are impacted by

(1) Youth population (2) National development
(3) Issues of data veracity {4) Establishment of national institutions
Options:

64535038342, 1
64535035344, 2
E4E350382345. 3
E4E35038246. 4

Question Number : 13 Question Id : 6463509741 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What 1s the work of National Statistical Commission?

(1) Establishing standards (2) Questioning data veracity
(3) GQuestioning official narrative {4) Supporting the public perception
Options:

E4E35038347. 1



EAE350382348. 2
645350358245, 3
64535038250, 4

Question Number : 14 Question Id : 6463509742 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

How can the gquality of national policies be improved?

(1) By living reality
(2) By supporting external interferences
(3) By controlling autonomous institutions
(4) By enhanced operational freedom
Options:
E45250385351. 1
E4AB35038352. 2
645350383535 3
64835033354 4

Question Number : 15 Question Id : 6463509743 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What does the passage ultimately suggest to National Statistical Commission?

(1) Restricting policy decisions
(2) Critically examining data veraecity
(3) Stick to a calendar of data dissemination

{4) Support development in core sectors
Options:

64535028355, 1

64535028356, 2

64535033357, 3

64535033358, 4

Question Id : 6463509738 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Juestion Label @ Comprehension
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Sub questions

Question Number : 11 Question Id : 6463509739 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
I+ FRTmT + T #7071 7 27
(1) U= gmE fT=n
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Options:

4835038239, 1
4535028240 2
64535028241, 5
64535038242, 4

Question Number : 12 Question Id : 6463509740 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) I e (2) WA fa=ry
(3)  Hiwsl =+ HoAal + Hag, (4) TS HETAT I TTE
Options:

645350238243, 1
64535035344, 2
64535035345, 3
E4E3503834E6. 4

Question Number : 13 Question Id : 6463509741 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4EZ50382347. 1
E4E35038248. 2
645350358245, 3
64535038350, 4

Question Number : 14 Question Id : 6463509742 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64835038351, 1
645350358352, 2
64535038352,
64535035354, 4

Question Number : 15 Question Id : 6463509743 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
402350383550 1
646535038356, 2
646535038357 2
64535038355, 4

Sub-Section Number: 3
Sub-Section 1d: 646350463
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 6463509744 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Assertion {(A) : The correlation function of mass media is vital for any society.

Reasons (R) : The mterpretational aspects that include advertising and public relations
shape and influence public opinion.

Choose the correct answer from the codes given below :

Codes :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true, but (R) 1s not the correct explanation of (A)
(3) {A) is true, but (R) is false

(4) (A) is false, but (R) is true

Options:
4525035359 1

E4E35038360. 2
E4E35038261. 3
EAE35038362. 4

Question Number : 16 Question Id : 6463509744 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

4835038359, 1
E4E35028260. 2
64535038361, o
4535038362, 4

Question Number : 17 Question Id : 6463509745 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Some of the barriers to effective communication are

i(a) Polysemy

{b) Simple language

(c) Use of Cliche’s

(d}) Easy construction of sentences

Choose the correct answer from the codes given below :

(1)  (a)and (b) (2) (b) and (¢)
(3)  (c) and (d) (4) (a)and (¢)



Options:

64535038363, 1
4835035364, 2
4535028365 2
64535038366, 4

Question Number : 17 Question Id : 6463509745 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
WA HH < T =T F)
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(1)  (a) X (b) (2) () W (c)
(3) ()3T (d) (4) (a) N (o)
Options:

64535038363, 1
64535038364, 2
E4E35038365. 3
EAE35038366. 4

Question Number : 18 Question Id : 6463509746 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a classroom, use of communication technology pre-supposes

(1) Inattentive audience
(2) Luxurious amblence
{3) Extrapolation of contents
(4) New forms of expression and applications
Options:
E4E25028367. 1
EAE25038368. 2
E4535038369. 2
64535038370 4

Question Number : 18 Question Id : 6463509746 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

4835038367, 1
645350238268, 2
64535038369, o
64535038370 4

Question Number : 19 Question Id : 6463509747 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In a classroom, content produced for a specific user will lead to

(1) personality development (2) content filtering
(3) personalisation {4) general academic integration
Options:

E4E35038271. 1
BAE35038372. 2
64535038373, 3
64535038374, 4

Question Number : 19 Question Id : 6463509747 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
w41 4 TR fafime warea = fau a6 7 fawasg =1 giomy g
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(3) T (4) T S T
Options:

6453502385371, 1
EAEZ5038372. 2
E4E350382373. 3
EAE350382374. 4

Question Number : 20 Question Id : 6463509748 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The sequential order of elements in classroom communication is

(1) knowledge, interest, evaluation, awareness
(2) awareness, interest, evaluation, knowledge
(3) evaluation, awareness, knowledge, interest

(4) interest, knowledge, evaluation, awareness

Options:



EAE350382375. 1
E4E535038376. 2
B4E350382377. 3
64535038378, 4

Question Number : 20 Question Id : 6463509748 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
FHTTT THIT % dedl & T #H 7 -
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(3) AT, ANTEFA, T, B

(4) 4, TH, TEATEA, TIEED
Options:
64535038375, 1
435038376, 2
645350238277, 5
64535038378, 4

Question Number : 21 Question Id : 6463509749 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Choose the missing term out of the following :
JAK, KBL, LCM, MDN,

(1) OEP (2) NEO
(3) MEN (4) PFQ
Options:

B453503823759. 1
64535038380, 2
64535038381, 3
E4E35038382. 4

Question Number : 21 Question Id : 6463509749 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FtatEd § 5 Jega T
JAK, KBL, LCM, MDN,

(1)  OEP (2) NEO
(3) MEN (4) PEQ
Options:

64535038379, 1
64535038380, 2
645350358381, 3
EAE35038382. 4



Question Number : 22 Question Id : 6463509750 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If the numhber 34axy is divisible by 90, then (x + 1) =7

(1) g (2) 8
) I (4) 6
Options:

E4E350382383. 1
E4E35038284. 2
645350382385, 3
64535038386, 4

Question Number : 22 Question Id : 6463509750 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Ife & 346¢y 90U =2 %, A (x+ y) =7

i1y B (2) 8
(3) 7 4) 6
Options:

E4E350382383. 1
E4E35038284. 2
E45350382385. 3
64535038386, 4

Question Number : 23 Question Id : 6463509751 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
On a map, 1inch represents 250 miles. What is the actual distance between two cities if they

are 4% inches apart on the map?

(1) 1100 miles (2) 1125 miles
(3) 1150 miles (4) 1200 miles
Options:

64535038387, 1
64535038388, 2
E4EZ5038389. 3
E4E350382390. 4

Question Number : 23 Question Id : 6463509751 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Foefl AT T 1 % 250 T T O B A T A WA T F A=A G 4Z TR

ST Wi o ATl g T

(1) 1100 = (2) 1125w
(3) 1150 (4) 12007
Options:

645350382387, 1
64535038388, 2
645350358389, 3
E4EZ503823390. 4

Question Number : 24 Question Id : 6463509752 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
If 60% of (a—b)=40% of (a+b), then what percent of @ is b?

(1) 20% (2) 25%
(3) 40% (4) 50%
Options:

645350238291, 1
64535038392, 2
645350383393, 3
E4E3503853594. 4

Question Number : 24 Question Id : 6463509752 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
e (a—b) F 60%=40% = (a+b) &, d a 1 b T Hia=d gm ?

(1) 20% {2) 25%
(3) 40% (4) 50%
Options:

64535038391, 1
645350383192, 2
E4E350383593. 3
EAE350382394. 4

Question Number : 25 Question Id : 6463509753 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What will be the ratio of simple interest earned by certain amount at the same rate of
mterest for 8 years and that for 12 years?

(1) 3:4 2y 23
(3) 4:3 (4) Data inadeqguate
Options:

B45350383595. 1



EAE35038396. 2
E4E5350382397. 3
64535038298, 4

Question Number : 25 Question Id : 6463509753 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

FRET 0T8T 70 9 99 #1279 =k TofU U JHTE =471 &1 ° ATeid HrgTo s47] I FI97d F47 i 7

() a4 (%5 23
(3) 4:3 (4) FATHE AT 3
Options:

64535038395, 1
64535038396, 2
E4E350383597. 3
EAE350382398. 4

Question Number : 26 Question Id : 6463509754 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

‘All Judges are fairminded’ is an example of proposition.

(1) Universal affirmative (2) TUniversal negative

(3) Particular affirmative (4) Particular negative
Options:

E4E350382399. 1
E4E350238400. 2
6453502358401, 3
64535035402, 4

Question Number : 26 Question Id : 6463509754 Question Type: MCQ Option Shuffling : No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

‘gt =TT vy g o T FEE B

(1) ==y b8y (2) T Ty

(3) AtaTee e (4) Tafime Frg
Options:

E4E350238299. 1
645350238400, 2
645350258401, 2
E4535023540Z2. 4

Question Number : 27 Question Id : 6463509755 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Yes

Yes

Yes

Yes



In which of the following arguments ‘the relation that exists between premises and
conclusion is that of logical necessity™?

(1) Inductive (2) Deductive
(3) Demonstrative (4) Analogical
Options:

E4E35038403. 1
E4E3502358404. 2
6453502358405, 3
64535035406, 4

Question Number : 27 Question Id : 6463509755 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
fetatiad oA Tieaai § “aaR 999 A1 ke & 9§19 5 994 g ¢ 9% alled A-Erddr 1 g 8

(1)  FFEATES (2) A=
()  TEEAEE (4) HIETIAF
Options:

E4E35038403. 1
E4E35038404. 2
E45350238405. 3
645350238406, 4

Question Number : 28 Question Id : 6463509756 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Six friends A, B, C, D, E and F are sitting in a closed circle facing the centre. E is to the left
of D. Cis between A and B. F is between E and A. Who is to the right of C?

(1) A (2) B
(3 D (4 E
Options:

64535028407, 1
645350358408, 2
645350235409, 3
E4EZ5038410. 4

Question Number : 28 Question Id : 6463509756 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FEAA B,C.D,EAN FUag a0 § &z ol AL 4@ gU A2 E, D H ardff A3 C, A dR =+
fFHF 2 FEFNAFTIHE 2 CF gl AL FAR?

1) A (2) B
(3 D (4) E
Options:

6453502358407, 1
E4E35038408. 2



E4E3503840%8. 3
B4E53502358410. 4

Question Number : 29 Question Id : 6463509757 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Inference (anumana) in Indian Logic is rooted in

(1) variable relation between minor term and major term

(2) mmvariable relation between middle term and minor term

(3) variable concomitance between middle term and major term

(4) mvariable concomitance between middle term and major term
Options:

E4E35038411. 1
EAE35038412. 2
E45350358413. 3
645350235414, 4

Question Number : 29 Question Id : 6463509757 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
AT FohEE § A 1 0d 7

(1) T 9% AN 0T 75 = &9 TiEd 99y
(2) TRl T8 I e & #g ATEG a9
(3) WISl U5 A EA UL o "= TiE) dgaidd
(4) TG Tg AN 0BT TE S A9Ed St
Options:
6465350358411, 1
4635038412 2

645350358413, 3
645350258414, 4

Question Number : 30 Question Id : 6463509758 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A B C D, EandF are six members in a family in which there are two married couples.
E, a teacher is married to the doctor who 1s the mother of C and F. B, the layer 15 married to
A A has one son and one grandson. Of the two married ladies one 1s a housewife. There 15
also one student and one male engineer in the family. How is A related to C?

(1) Grandfather {2) DMlother
(3) Sister (4) Grandmother
Options:

E4535028415. 1
645350358416, 2
645350358417, 3
6453502541858, 4



Question Number : 30 Question Id : 6463509758 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

% TER § A, B, C, D, E 3 F =: 9257 £ fomd & 3t femfeg <0t #1 E = o fonges 2, =71 fomme
SHAHEM A CANFARA MU BA AR F A AT g2 AF F T AN 3 2| &
feaTrEa ATgenaT O | U U1 7| TN 5 U i o T S S o 21 A CH 347 599 7 ¢

(1) &g (2) =@
(3 T (4) =T
Options:

E4535038415. 1
E4E35038416. 2
E4E5350358417. 3
6453503584158, 4

Sub-Section Number: 4
Sub-Section 1d: 646350464
Question Shuffling Allowed : Yes

Question Id : 6463509759 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Cuestion Label @ Comprehension

Consider the following table that shows the distribution of students in two sections Aand Bin a
school aceording to the marks obtained by them. There 15 a total of 45 students in each of the
sections A and B. Answer the guestions based on the data contained in the table :

Marks obtained by students

Marks MNumber of students in
in class interval Section — A Section — B

[0-9] 2 4

[10 — 19] 5] 3]

[20 - 29] 10 g

[30 — 39] 4 4

[40 — 49] 8 7

[0 - 59] 4 5

[60 — 69] T 5

[T0 — 79] 5] 5

Sub questions

Question Number : 31 Question Id : 6463509760 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
If the pass mark 15 30, what 15 the number of failures in both the sections together?

(1) 43 2y 35
(3) 16 4) 26
Options:

E4E35038413. 1
E4E35038420. 2
645350358421, 3
E4535038422. 4



Question Number : 32 Question Id : 6463509761 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If the pass mark i1s 40, approximately what is the percentage of successful students mn
Section — B?

(1) 48% (2) 51%
(3) 0% 4y 47%
Options:

E4E35038423. 1
E4E35038424. 2
E4535038425. 3
645350358426, 4

Question Number : 33 Question Id : 6463509762 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

How many students in Section — A and Seection — B together have obtained marks less
than 107

(1) 10 (2 11
(3) 12 4 6
Options:

64535038427, 1
64535038428, 2
645350358429, 3
E4EZ5038430. 4

Question Number : 34 Question Id : 6463509763 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

How many students in Section — A have obtained 30 or more marks but less than 507

(1) 12 (2) 14
(3) 10 4y 13
Options:

64535038431, 1
645350358432, 2
E4E35038433. 3
E4E350258424. 4

Question Number : 35 Question Id : 6463509764 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

How many students in Section — A and Section — B have obtained 50 or more than 50 marks?

(1) 23 (2) 43
(3) 32 (4) 34
Options:

E4E35038435. 1



E4E35038436. 2
E4E35038437. 3
5453502358438, 4

Question Id : 6463509759 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Juestion Label - Comprehension

fepAferfire arfers =1 fermfelat =1 Wrea #(=! & FER fa=rea § 2 #a A A B H faanfeii % faam =
297 3| el H9EH A A B 0 F 45 Tl 8| arfersn § fEu T sl % angn w weEi 1 39 den)

Ty TR s EEE
T fgv. A S B

[0 - 9] 2 4
[10 - 19] 5 5
[20-29] 10 9
[30 - 39] 4 4
[40 — 49] 8 7
[50 — 59] 4 5
[60 — 69] 7 5
[70 - 79] 5 6

Sub questions

Question Number : 31 Question Id : 6463509760 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T, FAOF 30 B, T S WAl § Ao fernfea i w5 we e 20

(1) 43 (2) 35
(3) 16 (4) 26
Options:

E4535028419. 1
64535038420, 2
645350358421, 3
E4E350358422. 4

Question Number : 32 Question Id : 6463509761 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ITe, IHTF 40 3 HFEH B O IH9 B TTel il s 9iase o TR 77

(1) 48% (2) 51%
(3) 0% 4y 47%
Options:

B4E5350238423. 1
64535038424, 2
645350358425, 3
E453503542E. 4



Question Number : 33 Question Id : 6463509762 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
O - A 31 O9F - B 24 o T faenferai 3 10 9 =59 &= 3 TRt

(1) 10 (2) 11
(3) 12 4) 6
Options:

64535038427, 1
645350358428, 2
E4E35038429. 3
E4E3502358420. 4

Question Number : 34 Question Id : 6463509763 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
o7 - A H TR fer=nielai = 30 71 Wit 1= g 50 & 9 o+ Wied U 37

(1) 12 (2) 14
(3) 10 4y 13
Options:

E4E35038421. 1
EAE35038432. 2
E45350358433. 3
645350358434, 4

Question Number : 35 Question Id : 6463509764 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
O9FH - A 31T 9999 - B O Tood Toafelat 9 50 77 50 ° 19 37 Wred TeFu?

(1) 23 (2) 43
(3) 32 4) 34
Options:

645350358435, 1
E4E35038436. 2
E4E35038437. 3
E45350258438. 4

Sub-Section Number: 5
Sub-Section Id: 646350465
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 6463509765 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



While sending an e-mail, to differentiate among To : , Ce: and Bee : fields, which one of the
following statements is True?

(1) Recipients in the To : field can see the email addresses that are in the Bee : and Ce:

fields

(2) Recipients in the Ce : field can see the email addresses that are in the To - and Bee:
fields

(3) Recipients in the Bee : field can see the email addresses that are in the To : and Ce:
fields

i4) Only the recipients in the Ce : field can see the other email addresses in the Bee : field

Options:

64535038439, 1
64535038440, 2
64535035441, =
64535035442 4

Question Number : 36 Question Id : 6463509765 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
U S 0o 99d 509 To -, Ce : 31T Bee : Fivel § 19498 %3 & 9949 O (iaraiiad 5= § ® HE-97 951
27

(1) To:ﬁﬁﬁmﬁee:ﬁﬂe:fﬁﬁﬁﬁﬁ@mﬁﬂﬁﬂﬁiﬁmgl
(2) Cec : %ies § Wreawdl To : 3 Bee : Fiesl d Ta=m= Ha 741 =1 <@ 954 &
(3) Bee - Fieg § Wtashal To : 31T Ce - Fiesi § =@ 309 791 1 <@ T4 7
(4) Cec : e § S Wtasdl Bee : %lesl § A3 20 T4l 1 4@ Td 2|
Options:

E45350354359. 1

64535035440 2

646350353441 =2

E4AB35033442 4

Question Number : 37 Question Id : 6463509766 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A group’s access to digital technology and ancther group’s lack of access to it, will cause a
disparity known as

(1) Internet inequality (2) Web inequality
(3) Technological imbalance {4) Digital divide
Options:

545350258443, 1
64535035444, =
64535035445, 3
E4E3503844E. 4

Question Number : 37 Question Id : 6463509766 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



U HHE I TEfsee Wi i Sremad A gEt g i e Agestd | S fauwdar s g 5
71 =l 2

(1) ST FEAT (2) F= FEEHA
(3) iR aEaed (4) Tefaea faar=m
Options:

545350258443, 1
64535035444, 2
645350358445, 3
E4E3503844E. 4

Question Number : 38 Question Id : 6463509767 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In internet terminology, what does the acronym WYSIWYG stand for?

(1) Why You Saw Is What You Got (2) What You See Is What You Get
(3) Where You See Is Where You Got (4) What You See Is What You Got
Options:

645350358447 1

646350334458 2

64835033449 =

E4E5250258450. 4

Question Number : 38 Question Id : 6463509767 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T TICATTo TReraet | T 6 WYSIWYG %1 3=f gran 37

(1) ==L A T e LM (2) =eLH WmELR
(3) TEAL L A LM (4) =L H WEEZ L
Options:

E4E35038447. 1
6453502358448, 2
64535035449, 3
645350358450, 4

Question Number : 39 Question Id : 6463509768 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Software that vou can download for free, but have to pay to continue its use after a trial
period 1= called

(1) public domain software (2) freeware
(3) open-source software {4) shareware
Options:

E4E35038451. 1
E4E35038452. 2



E4E35038453. 3
E453502358454. 4

Question Number : 39 Question Id : 6463509768 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
HivearT, f A9 F3les eredie 1 Hd 3, g gra9 =iy = 9=, 36 W S T % T
ATTH FTAH F T8 7, TIH Fa44 3

(1)  TEaF SHA FFeEIL (2) WA
(3)  AH-HE TiFET (4) IEEE
Options:

64535038451, 1
64535038452, 2
E4E35038453. 3
EAE35038454. 4

Question Number : 40 Question Id : 6463509769 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following computer components 1s fastest in terms of speed of access?

(1) USE Drive (2) Solid State Drive
i AT ard Ihsk Drive

3) RAW (4) Hard Disk Dn
Options:

E4E35038455. 1
E4E35038456. 2
E4535038457. 3
645350358458, 4

Question Number : 40 Question Id : 6463509769 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
et et Hazhl o | FH-31 5= I T = 3 H HgeE ga gt

(1) L uHH g (2) Hifas T2 IrA
(3) W (IMuW) (4) = fomr gr=
Options:

E4535028455. 1
64535038456, 2
645350358457, 3
64535025458, 4

Question Number : 41 Question Id : 6463509770 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



One of the main outcomes of the Rio +20 conference was to develop a set of

(1) Sustainable Development Goals (2) Millennium Development Goals
(3) National Development Strategy (4) National Land Restoration Strategy
Options:

E4535028459. 1
64535038460, 2
645350358461, 3
E4535035462. 4

Question Number : 41 Question Id : 6463509770 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
frafl +20 HH@A 1 TF T0 T T 90=a9 1 5 &6 97

(1)  TEE fFwm 98 (2) TEETE: fawrg @
(3)  TSEF TRy T (4) T g T T
Options:

64535028459, 1
645350358460, 2
E4E350384E61. 3
EAE35038462. 4

Question Number : 42 Question Id : 6463509771 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The time frame for the implementation of Millennium Development Goals was,

(1) 2000 — 20035 (2) 2000 -2015
(3) 2005 — 2010 (4) 2000 -2012
Options:

645350358462, 1
E4E35038464. 2
E4E35038465. 3
EAE35038466. 4

Question Number : 42 Question Id : 6463509771 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
HeHTss, =g d&l = Fai=79 < gug-Hm 271 2 :

(1) 2000 — 2005 (2) 2000 - 2015
(3) 2005 — 2010 (4) 2010 - 2020
Options:

B4535038463. 1
645350358464, 2
645350358465, 3
EAE350384EE. 4



Question Number : 43 Question Id : 6463509772 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The duration for which of the usable compost generation is 3—6 months?

(1) Vermi composting (2} Semi-Automatic waste converter
(3) Pit composting (4) Automatic waste converter
Options:

64535038467, 1
64535038468, 2
64535035469, 3
EAEZ5038470. 4

Question Number : 43 Question Id : 6463509772 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FeratEa 5 8 o 3TEmmarg e, e = a9y 3-6 918 = 5 B

(1) = e (2) HAF-TTNAd 998 FUEdF
(3) e $onieen (4) TE=ErAd 94 GUiEd®
Options:

64535038467, 1
64535038468, 2
E4E350384E68. 3
EAE35038470. 4

Question Number : 44 Question Id : 6463509773 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Oligotrophic lakes are characterized by

(1) High level of nutrients (2) Low level of nutrients
(3) Absence of nutrients (4) High level of organic matter
Options:

64535038471, 1
E45350358472. 2
E4E35038473. 3
EAE350238474. 4

Question Number : 44 Question Id : 6463509773 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) 9= # I T (2) TEH F 7 o1
(3) g F AYE (4) e TEET 1 3= T
Options:

64535038471, 1
64535038472, 2
E4E35038473. 3



EAE35038474. 4

Question Number : 45 Question Id : 6463509774 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

With increase in temperature, the dissolved oxygen content in a water body

(1) decreases
(2) increases
(3) remsain constant

(4) may increase or decrease depending on the temperature range

Options:

64535038475, 1
64535038476, 2
4835038477, 2
4535028478 4

Question Number : 45 Question Id : 6463509774 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
AT | g * 9= 79 g ° et Aifaeeq 19

(1) =z
(2) H@ed
(3) TERTETE

(4)  AIHE TIE F ATHE g2 I g 2
Options:
64635038475, 1
64635038476, 2
64635038477, 3
64635038478 4

Question Number : 46 Question Id : 6463509775 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The econstitution of India provides right to establish educational institutions of their choice
by all minorities as per

(1) Article 30(1) (2)  Article 29
(3) Article 33 (4)  Article 16(2)
Options:

64535038479, 1
6453502358480, 2
E4E35038481. 3
EAE35038482. 4

Question Number : 46 Question Id : 6463509775 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



O 1 TS AT9E=TH g 7 748 5 o 9= =g 7 o AT 5 39 A 2

(1) 3= 30(1) (2) T 29
(3)  Ig=e 33 (4) IF=T 16(2)
Options:

E4E3502384739. 1
645350238480, 2
645350358481, 3
645350358482, 4

Question Number : 47 Question Id : 6463509776 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
SWAYAM refers to
(1) Study World of Action-Learning for Young Aspiring Minds
(2) Study Webs of Active-Learning for Young Aspiring Minds
(3) Student World of Action-Learning for Young Ailing Minds
(4) Study Webs of Active-Learning for Youth Awareness hModels

Options:

E4525038485. 1

64535038454 2

64535038485 2

648350334586 4

Question Number : 47 Question Id : 6463509776 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
WA AR T (F) F I T
(1) T2 T8 ATF UFEH-AT B 17 T ATEEd
(2)  TZE 959 ATF U -1 FIL 47 TEITITET AT5-5H
(3)  TZErZ dve ATH UFEH-AI- FIL T TRl HT358
(4)  TZE =A=H AR UFed-H- HIL I8 AT HI5-5H
Options:
64835038483, 1
E4E35035454. 2

E4E35038485. 3
EAE35038486. 4

Question Number : 48 Question Id : 6463509777 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following is an educational FM radio network?

(1) Gyan Darshan {2) Gyan Vani
i3} Gyan Dhara (4} GIAN
Options:

E4E35028487. 1
64535038488, 2



EAE35038489. 3
E453502358430. 4

Question Number : 48 Question Id : 6463509777 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535038487, 1
64535038488, 2
E4E35038489. 3
E4E35038430. 4

Question Number : 49 Question Id : 6463509778 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following reports addressed the academiec, technical and administrative
problems of the examination system?

(1) Report on standards of the Educational System (1965)
(2) Report of University Education Commission (1948-49)
(3) Sargent Report (1944)
(4) Hartog Committee report (1929)

Options:

E4E825028451. 1

E4E25038482 2

E45350354593. =

64535035454 4

Question Number : 49 Question Id : 6463509778 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) T 14 Tr28d A% & THd 952 (1965)
(2)  TOOrE ATE IS THTH FHEE (1948-49)
(3)  Hraiee fOre (1944)
(4)  Frem Fd o (1929)
Options:
64635038491, 1
64635038492, 2

E45350384393. 3
E4E3502384594. 4

Question Number : 50 Question Id : 6463509779 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

During which wvear the present syvstem of affiliation of colleges to the Universities was
imtroduced in India?

(1) 1857 (2) 1948
(3) 1928 (4) 1966
Options:

E45350238455. 1
64535038456, 2
64535038457, 3
6453503584358, 4

Question Number : 50 Question Id : 6463509779 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 1857 (2) 1848
(3) 1928 (4) 1966
Options:

645350238455, 1
645350358436, 2
64535035437, 3
E4E350384395. 4
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Question Number : 51 Question Id : 6463509780 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the follawing is NOT tue about pragmaties?

1. Itis the study of speaker’s meaning

bt

It recognizes what is meant when it isn't actually said or written

Speakers (or writers) must be able to depend an a lot of shaved assumptions
and expectations

lad

4. It deals with the conventional meaning conveved by use of words, phrases
and sentences of a language

Options:

64535038499, 1
E4E35038500. 2
&45350258501. 5
64535038502, 4

Question Number : 51 Question Id : 6463509780 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535038499, 1
64535038500, 2
64535038501, =
64835038502 4

Question Number : 52 Question Id : 6463509781 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A language svstem shared by a community of speakers refers to
1. langage
2. langue
3 speech repertoire
4. dialeer

Options:

64535038503, 1
64835038504, 2
E4E35028505. 2
64535038506, 4

Question Number : 52 Question Id : 6463509781 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535038503, 1
64535038504, 2
E4E35038505. 3
E4E35038506. 4

Question Number : 53 Question Id : 6463509782 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The uniformitv and rapidity of first language acquisition is explained by Chomsky’s
postulate of a biclogically endowed language faculpy as it is considered to determine
one of the following :

1. nature of linguistic experience
2. funetions of langnage

3. structure of words

4.  the course of acquisition

Options:

4535038507, 1
64535038508, 2
64535038509, =
64535038510, 4

Question Number : 53 Question Id : 6463509782 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E4E35038507. 1
E4E35038508. 2
64535038505, 3
64535038510, 4

Question Number : 54 Question Id : 6463509783 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The dance of honeybee exhibits which one of the following features?

1. Cultural transmission

2. Duisplacement

3. Interchangeability
4. Duality
Options:
64535035511, 1
64535038512, 2

E4E35038513. 3
645350238514, 4

Question Number : 54 Question Id : 6463509783 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350238511, 1
64535038512, 2
645350358512, 3
E4E35038514. 4

Question Number : 55 Question Id : 6463509784 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Sets of symtagmatically related constituents are often referred to as

1. structures
2. functions

3. systems

4.  None of the above

Options:

64535038515, 1
64535038516, 2
64535038517, 2
64535038518, 4

Question Number : 55 Question Id : 6463509784 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350238515, 1
64535038516, 2
64535038517, 3
E4E35038515. 4

Question Number : 56 Question Id : 6463509785 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Hieroglyphs have been used to wnite
1. old Chinese languages
2. ancient Egvptian languages
3. old Greek languages
4. Vedic Sanskrit

Options:

64535038519, 1
E4E35038520. 2
64535028521, 5
64535038522, 4

Question Number : 56 Question Id : 6463509785 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
64635038513, 1
64635038520, 2

64535038521, 3
64535038522, 4

Question Number : 57 Question Id : 6463509786 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Identify the odd one from the list :
1. Velum
2. Hard palate
3. Alveolar nidge
4.  Tongue

Options:

64535038523, 1
E4E35038524. 2
E4E35028525 2
64535038526, 4

Question Number : 57 Question Id : 6463509786 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E35038523. 1
64535038524, 2
64535038525, 3
64535038526, 4

Question Number : 58 Question Id : 6463509787 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A tvpe of phonation in which the anvtencid cantilages hold the posterior end of the
wvocal cords together, so that they can vibrate onlv at the other end is called

1. falsemo phonation
2. creaky voice
3. whisper phonation
4. breathv voice

Options:

4535038527, 1
64535038528, 2
64535038529, 2
645350338530 4

Question Number : 58 Question Id : 6463509787 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E35038527. 1
64535038528, 2
64535038529, 3
64535038530, 4

Question Number : 59 Question Id : 6463509788 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The consonants whose articulation allows for a free airflow, without friction are

1 Obstruents

o ]

Sonorants

Diphthongs

ek

4. Glides

Options:
45350385510 1

E4E35038532. 2
E4E35038533. 3
E4E35038534. 4

Question Number : 59 Question Id : 6463509788 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

648350385211
4535028532 2
64535028522, 5
64535038524, 4

Question Number : 60 Question Id : 6463509789 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Implosives are made with
1.  eggressive glottalic airstream
2. ingressive glottalic airstream
3. ingressive velarie airstream
4. eggressive velarie airstream

Options:

64535038535, 1
64535038536, 2
64535038537, 2
E4E350385328. 4

Question Number : 60 Question Id : 6463509789 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
4235038535, 1

E4E35038536. 2
E4E35038537. 3
64535038538, 4

Question Number : 61 Question Id : 6463509790 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The word ‘khat-khat’, knocking sound in Hindi or a similar sound in most Indian
languages is an example of reduplication which justifies a process of ; it brings
out word-to-word forms in the language,

1.  grammaticalization
2. lexicalization

3. swnthesization

4 neutralization

Options:

4535035559, 1
645350238540, 2
64535038541, o
64535038542, 4

Question Number : 61 Question Id : 6463509790 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E45350238539. 1
64535038540, 2
645350358541, 3
64535035542, 4

Question Number : 62 Question Id : 6463509791 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The term “concatenation’ in morphology refers to
1. decoding the meaning of words
2. encoding the meaning of words
3. separating or linking the affixes of words
4. enforcing the external meaning of words

Options:

648350385432, 1
4535028544 2
645350238545, o
64535038546, 4

Question Number : 62 Question Id : 6463509791 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
E4535033543 1
E4525038544. 2
E4535038545 =
64535038546 4

Question Number : 63 Question Id : 6463509792 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



The words such as ‘embolden’ and ‘enkindled” in English are examples of a
morphological process, called

1. suffixation

2. infixation

3. prefixation

4.  circumfixation
Options:
4535038547, 1
E452502854E. 2

E4E35038549. 3
E4535038550. 4

Question Number : 63 Question Id : 6463509792 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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w1 el 87
1. HEg-gEa
2. Oe-uEd O
3. od-wew O
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Options:
64635033547 1
645350238548, 2

E4E35038549. 3
E4E35038550. 4

Question Number : 64 Question Id : 6463509793 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The words such as ‘edit’ and ‘paddle’ in English are examples of word-formation
process in linguistics that is known as

1 colming
=

back formation

clipping

Ll

4 blending
Options:

64535028551, 1
64535038552, 2
64535038553, 3
64535038554 4

Question Number : 64 Question Id : 6463509793 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E535038551. 1
E4535038552. 2
64535038553, 3
645350358554, 4

Question Number : 65 Question Id : 6463509794 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In generative syntax, a verb can’t give B-role (theta-role) to

1. specifier

[

direct object

3. indirect object

4.  obligue object (adjunct)
Options:
CAEZE0ZEEEE 1
4525038556 2

64535038557, 3
64535038558, 4

Question Number : 65 Question Id : 6463509794 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
645350385551
64535038556, 2
64535038557, 2
E4E25028EEE. 4

Question Number : 66 Question Id : 6463509795 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The X-bar theory in svntax facilitates the generative grammar to explain and describe
an intervening node by providing for the configurational relationship in a phrase.

1. an intermediate node
2. an immediate node
3. aparallel node

4. ahbinding node
Options:
646350335549 1
64535038560 2
E4525028561. 3
E4E25038562. 4

Question Number : 66 Question Id : 6463509795 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350385549, 1
64535038560, 2
E4E35038561. 3
EAE35038562. 4

Question Number : 67 Question Id : 6463509796 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In generative syntax, the hierarchy in a tree-diagram can be explained better if we have
for the bifurcation of the branches (nodes) in a tree-diagram.

1.  animmediate branching

2

a binary branching
3. a haultible branching

4. atemarv branching
Options:
64635033563 1
64535038564, 2
E4E25028565. 3
E4E25038566. 4

Question Number : 67 Question Id : 6463509796 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E350385E63. 1
EAE35038564. 2
E4E35038565. 3
E4535038566. 4

Question Number : 68 Question Id : 6463509797 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Among many NPs, one of the tvpes of NP can't simply occur in a sentence without any
reference (coindexation) elsewhere in the same sentence is lmown as in
Govemment and Binding Theory.

l. proncun

2. deixis

3.  anaphor

4 cOmmaon noun
Options:
64635033567 1
64535038568, 2

E4E35038569. 3
EAE35038570. 4

Question Number : 68 Question Id : 6463509797 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. wdam
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Options:

64535038567, 1
EAE35038568. 2
E4E35038569. 3
BAE35038570. 4

Question Number : 69 Question Id : 6463509798 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



In a syntactic tree, a node ‘X' c-command “Y" iff neither dominates each other : this
relation holds trae for sister nodes and daughter nodes; however, we also have a special
c-command relation between sister nodes and thart is

1. asymmetrical c-command
2. immediate e-command
3.  intermediate c-command
4. symmetrical c-command
Options:
64635038571, 1
E4E35038572. 2

E4E35038573. 3
EAE35038574. 4

Question Number : 69 Question Id : 6463509798 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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2. I c-FHE

3. AEEd oS

4.  GHHGT c-FHE
Options:
64535038571, 1
64635038572 2

E4E35038573. 3
EAE35038574. 4

Question Number : 70 Question Id : 6463509799 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
When an interrogative structure such as ‘Did you ....7", "Arethey .7 or ‘Can we ...7" is
used with the function of a question, it is described as a

1. direct speech act
2. phonic act

3. indirect speech act
4. rthetic act

Options:

4635038575, 1
64535038576, 2
64535038577, 2
64535038575, 4

Question Number : 70 Question Id : 6463509799 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535038575, 1
E4E35038576. 2
EAE35038577. 3
E4E535038578. 4

Question Number : 71 Question Id : 6463509800 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The states that ‘unless there is evidence to the contrary, the hearer is presumed
capable of determining the meaning and the referents of the expression in the context of
utterance’.

1. linguistic presumption

2. communicative presumption

3. presumption of literalness

4. conversational presumption
Options:
645350385759, 1
64835033580 2

64535038581, 3
EAEZ5038582. 4

Question Number : 71 Question Id : 6463509800 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
E4E350385749. 1
64535038580, 2
64535038581, =
64535038582, 4

Question Number : 72 Question Id : 6463509801 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



concems the wavs in which languages encode or grammaticalize features of the
context of utterance or speech avent,

1. Implicature

2. Deixis

3.  Entailment

4. Presupposition
Options:
CAEZE0ZEEEE 1
4525038584, 2

E4535038585. 3
64535038586, 4

Question Number : 72 Question Id : 6463509801 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535038583, 1
64535038584, 2
64535038585, 3
E4E35038586. 4

Question Number : 73 Question Id : 6463509802 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“The White House has announced to hold peace talks with North Korea.” In the given
sentence “White House’ is an example of

1 metonymy
2. metaphor
3. polysemy
4 sumile

Options:

4535038557, 1
45350238588, 2
64535038589, o
64535038590, 4

Question Number : 73 Question Id : 6463509802 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



“I3T 3199 37 Iod Sifmm F Ty wifs ol FE S vmm S 21 RAT awu A ‘e
e frwet gemem 2

1. wearew @R
2. wU%
3. F@g-sdean
4. 99|
Options:

64535038587, 1
E4E3503858E. 2
E4E35038589. 3
E4535038530. 4

Question Number : 74 Question Id : 6463509803 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

is 4 term that we use in lexical semantics to describe a part-whole relationship
between lexical items.

1. Metonvmy
2.  Homonvmy
3. Meronymy
4.  Hvponvmy

Options:

64535038591, 1
64535038592, 2
64835038592 =2
4535025594 4

Question Number : 74 Question Id : 6463509803 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350238591, 1
EAE35038592. 2
E4535038593. 3
E45350238554. 4

Question Number : 75 Question Id : 6463509804 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Which of the following is a cover term for devices which allow speakers 1o express

varving degrees of commitment to, or belief, in a proposition?

1.  Evidentiality
2. Relativity
3. Modality

4.  Functionality
Options:
64535038555 1
64835033596, 2
645350238597, 5
E4525028588. 4

Question Number : 75 Question Id : 6463509804 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535038595, 1
64535038596, 2
64535038597, 2
4835038598 4

Question Number : 76 Question Id : 6463509805 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The pairs of words “above-below’, ‘buy-sell” and ‘lend-borrow’ are examples of
1 hvponyms
2. converses
3 reflexives
4. reversive

Options:

E4E350355499. 1
4535028600, 2
64535038601, 5
64535038602, 4

Question Number : 76 Question Id : 6463509805 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

6453502385595, 1
64535038600, 2
645350358601, 3
EAEZ503860Z. 4

Question Number : 77 Question Id : 6463509806 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following methods in historical linguistics has its aim to recover as much
as possible of the ancestor language from a comparison of the related descendant
languages and to determine what changes have taken place in these languages that have
developed from the proto-language?

1. Lexicostatistics
2. Dialect geagraphy
3. Intemal reconstruction

4. Comparative method
Options:
E4E25038603. 1
64535038604, 2
64635033605 2
64535038606, 4

Question Number : 77 Question Id : 6463509806 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

el ww-fram 2t few fafy & gde & v &1 gon Soft v § oy g &
T | T8 gRia S SR 95 Fvifa a0 g 2 & we-umm & R g €

1. T=Saw gifamst

2. IOuTET I

3. wiEhE T

4. o fafy
Options:

64535038603, 1
E4E35038604. 2
E4535038605. 3
E4E35038606. 4

Question Number : 78 Question Id : 6463509807 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



A process that reduces the number of allomorphs and makes paradigm more uniform is
called

1 analogical levelling

2. syncretism
3 blending
4. apocope

Options:

4835038607, 1
4535028608, 2
64535038609, o
64535038610, 4

Question Number : 78 Question Id : 6463509807 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350238607, 1
64535038608, 2
64535038609, 3
E4EZ5038610. 4

Question Number : 79 Question Id : 6463509808 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A change in the meaning of a word so that it comes to include additional senses which
were not originally present but which are elosely associated with the werd's eriginal
meaning, is referred to by

1. swnecdoche
2. metonvmy
3. word blend

4, amelioration

Options:
42350358611, 1

E4E35038612. 2
64535038613, 3
64535038614, 4

Question Number : 79 Question Id : 6463509808 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E35038611. 1
E4E35038612. 2
64535038613, 3
645350358614, 4

Question Number : 80 Question Id : 6463509809 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The observation that /p/, t/, &' in Latin correspond to /£ /8/, /&' in the Germanic
languages is referred to as

1. Karl Brugmann's law

2. Vemer's law

3. Grassmann's law

4. Grimm’s law
Options:
E4E35038615. 1
E4E3503861E6. 2

E4E535038617. 3
6453503586158, 4

Question Number : 80 Question Id : 6463509809 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E4E35038615. 1
E4E3503861E6. 2
E4535038617. 3
6453503586158, 4

Question Number : 81 Question Id : 6463509810 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In 2 bomowing language, where loan words, which do not conform to mative
phonclogical pattemns, are modified to fit the phonological combinations which are
permitted in the bomowing languages. Which of the following refers to this process?

1.  Accommeodation

2. Aclimatization

3. Centralization

4. Dissimilation
Options:
645350358619, 1
64535038620, 2

E4E35038621. 3
EAE35038622. 4

Question Number : 81 Question Id : 6463509810 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E4E35038615. 1
EAE35038620. 2
E4E35038621. 3
EAE35038622. 4

Question Number : 82 Question Id : 6463509811 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The change, which invalves the range of meanings being decreased so that a word can
be used appropriately only in fewer contexts than it could before the change, is called

1.  pejoration

P

alevation

3.  semantic namwowing
4. ellipsis
Options:
64535038623 1
64635038624, 2
64535038625 3
64535035626, 4

Question Number : 82 Question Id : 6463509811 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

B4E535038623. 1
64535038624, 2
64535038625, 3
EAE3S038EZE. 4

Question Number : 83 Question Id : 6463509812 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A term used in historical linguistics to refer to a tvpe of bomowing, where the
morphemic constituents of the bomrowed WOED or PHEASE are translated item by
item into equivalent MOEPHEMES in the new language.

Select the comrect answer from the following -

1.  Malform
2. Calque
3. Archaie translation
4, Push chain

Options:

646535038627, 1

64635038628, 2

64535038629, 3
E4E35038630. 4

Question Number : 83 Question Id : 6463509812 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535038627, 1
64535038628, 2
64535038629, 3
EAEZ5038630. 4

Question Number : 84 Question Id : 6463509813 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following is true about the English Great Vowel Shift7?

1.  The high long vowels were lowered
2. The unrounded vowels were rounded
3. The shore vowels were systematically raised
4. The high long vowels were diphthongized

Options:

4835038631, 1

E4E35038632. 2

E4EZ5038633. 3
E4E35038624. 4

Question Number : 84 Question Id : 6463509813 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535038631, 1
64535038632, 2
E4E35038633. 2
64535025624, 4

Question Number : 85 Question Id : 6463509814 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Any systematic observation of speech defines a context in which some comnscious
attention will be paid to that speech, so that it will be difficult, without great ingenuty,
to observe the genuine “vemnmacular’. This principle accounts for what has been called as

1. convergence

2. wvemacular principle

3.  uninformation principle
4. observer’s paradox

Options:

64535038635, 1
64535038636, 2
4835038637, 2
45350286328, 4

Question Number : 85 Question Id : 6463509814 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
E4635038635. 1
E4E35038E36. 2
E4E3E038E37. 3
4535035638, 4

Question Number : 86 Question Id : 6463509815 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Assertion I: The dependent (linguistic) variable must change when some independent
variable changes.

Assertion I : The dependent variable must stratifv the subjects in wayvs that are
socially or stvlistically coherent.

Choose the correct option from the following
1. Onlylistrue
2. OnlyIlis true
3. BothI and II are true

4. None of the assertions is te
Options:
645350386359 1
64635033640 2
64535038641, 5
E4E25028642. 4

Question Number : 86 Question Id : 6463509815 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64535038639, 1
E4E35038640. 2
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EAE35038642. 4

Question Number : 87 Question Id : 6463509816 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The H vanety of a diglossia may not be used

1.  for broadeasting the news on radio and television
2. in folk literature
3 for writing poetry
4. for writing editorials in newspapers

Options:

646350358643 1

64535038644, 2

E4E525028645. 3

EAEZ503564E6. 4

Question Number : 87 Question Id : 6463509816 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535038643, 1
E4E35038644. 2
64535025645, 5
64535038646, 4

Question Number : 88 Question Id : 6463509817 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

When _ is used to conceal the activities of a people such as criminals, it mav be
called argot.

1. taboo

2. euphemism

3. slang

4. vemacular
Options:
435035647, 1
E4E2502864E. 2
E4E250358649. 3
64535038650 4

Question Number : 88 Question Id : 6463509817 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

64535038647, 1
6453503586458, 2
E4EZ5038649. 3
E4E35038650. 4

Question Number : 89 Question Id : 6463509818 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Inthe context of standardization of language as discussed by Haugen the elabaration of
function refers to

1. selection of a vanety of language as one to be developed mnto a standard
language

2. reduce vanations in the language by wnting dictionanes and grammars

3.  the acceptance of the varety by the relevant population as the varety of the
COMMunity

4. increase the functions of language in all domains of social and public life

Options:

4635038651, 1
64535038652, 2
64535038653 =
64535038654, 4

Question Number : 89 Question Id : 6463509818 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
4535035651, 1
64635038652, 2
64635038653, 3
64535038654, 4

Question Number : 90 Question Id : 6463509819 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following is NOT a consequence or result of language contact?
1. Bomowing
2 Diglossia
3. Bilingualism
4. Pidgin

Options:

E4E25028655. 1

EAEZ5038656. 2

E4E3503865Y. 3
E4535038658. 4

Question Number : 90 Question Id : 6463509819 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E4E35038655. 1
E4E3503865E6. 2
E4E535038657Y. 3
64535038658, 4

Question Number : 91 Question Id : 6463509820 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

An implicational universal will claim that if a language has 5V O basic word order, then
it has preposition; if we symbolize VS0 as “q’ and preposition as ‘p’, which of the
following is not attested?

¥ B ¥

1 p —*q

2 ‘" = 'not q’

3. ‘not p' —:t'q’

4, ‘notp' = ‘not q’
Options:

E4E35038659. 1
E4E350386E60. 2
E4535038661. 3
64535038662, 4

Question Number : 91 Question Id : 6463509820 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535038659, 1
64535038660, 2
E4E35038EE]L. 3
EAEZS038EEZ. 4

Question Number : 92 Question Id : 6463509821 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In language tvpology, a statement that all languages have oral vowels makes no
reference to any other items that must or must not be present in the language
exemplifies the universals as

1. formal

2. non-implicational

3 substantive

4.  implicational
Options:
646350358663 1
64535035664, 2

E4EZ50386EE. 3
EAE3503866E. 4

Question Number : 92 Question Id : 6463509821 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535038663, 1
64535035664, 2
E4EZ50386EE. 3
EAE3503866E. 4

Question Number : 93 Question Id : 6463509822 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A language named Brahui which is spoken in Afghanistan, Baluchistan, Turkmenistan
and Pakistan incidentally belongs to

1 Indo-Arvan language family
2. Dravidian language family
3. Tibeto-Burman language family
4. Austro-Asiatic language family
Options:
4535038667, 1
E4EZ50286E6E. 2

EAE35038669. 3
EAE35038670. 4

Question Number : 93 Question Id : 6463509822 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
64535038667, 1
EAE2E0ZE6EE. 2
64535038669, 3
64535038670, 4

Question Number : 94 Question Id : 6463509823 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the languages of South Asia, the standard of comparison (Std. of Comp.) and the
marker of companson (M of Comp.) seems to have great connection with the word
order of the langnage So if the marker of comp. precedes the Std. of Comp., the
language is mostly non-verb final, but if the marker follows the Std. of Comp., the
language 15 mostly verb final. This generalization 15 discussed under

1. word-order effect
2. word-order comrelation effect
3. branching direction effect

4.  constituent shift effect
Options:
45350358671 1
E4BZE028672. 2
E4E25038673. 3
64535038674 4

Question Number : 94 Question Id : 6463509823 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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4535038671, 1
64535038672, 2

EAE35038673. 3
EAE35038674. 4

Question Number : 95 Question Id : 6463509824 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The ‘thickness’ or ‘thinness’ of a line on a language map which marks a distinet
linguistic feature in that linguistic area is known as

1. issolog

2. issogloss

3. issolect

4. dialectolog
Options:
4535038675, 1
E4EZ502867E. 2

EAE3503867Y. 3
E4E35038678. 4

Question Number : 95 Question Id : 6463509824 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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64535038675, 1
E453503867E. 2
EAE3S038E7Y. 3
EAE35038678. 4

Question Number : 96 Question Id : 6463509825 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In the context of the implications resulting from the five hypotheses proposed by
S. Krashen which of the following is NOT comect?

1. Asmuch comprehensible language input as possible must be presented

2. Symtactic structures are more useful than visual aids and the wide range of
words

3. The focus in the classroom should be on listening and reading; speaking
should be allowed to ‘emerge’

4. Input should be interesting and meaningful in addition to a relaxed
classroom atmosphere

Options:

4635038679, 1
64535038680, 2
64535038681, =
64535038682, 4

Question Number : 96 Question Id : 6463509825 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535038679, 1
64535038680, 2
64535038681, 2
E4E35038682. 4

Question Number : 97 Question Id : 6463509826 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a disability affecting reading and writing, words may be confused with totally

unrelated words, even those of verv different appearance, which are somehow similar
in sound, meaning or grammatical class. Which one of the following refers to this?

1.  Dwsgraphia
2. Apraxia

Surface dyslexia

Lak

4. Deep dyslexia
Options:
64535038683, 1
E4AE3E0286E4. 2
64535038685, 3
64535028686, 4



Question Number : 97 Question Id : 6463509826 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

754 AR S S wuife Fe areht s it fufy & wes qofa: i wedl F @y wm
T Twd & 5o U wes v et 2 & Rt af, s siv somenite o ge-ah gt 2

o Praffan # & fred defim &7
1. @EF 8%
2. P e

3 qaE HIa+

4. e HY9a
Options:
CAEZE0ZEEE8E. 1
C4EZE0ZRERL. 2
E4EZEQZRERS. 2
C4EZE0ZREEE. 4

Question Number : 98 Question Id : 6463509827 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Humans are generically imprinted with knowledge about language Select the correet
option from those given below which refers to this belief?

1. The monitor hypothesis

2. The relativity hvpothesis

3.  The generalization hypothesis
4.  The innateness hvpothesis

Options:

64535038687, 1
64535038688, 2
645350386389, 2
4835038690 4

Question Number : 98 Question Id : 6463509827 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A F HIERE F9 F HI91-T4 & A9l 94 We T o FafhfEa 79 - e

= AgaT ° Sl 27
1. et dReee
2. o g

3. THtEI uiEea

4. g W@ea
Options:
64535038687, 1
64535038688, 2
64E35038689. 2
E4AE3E502E6390. 4



Question Number : 99 Question Id : 6463509828 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following options is a term used in language ACQUISITION to referto a
GEREAMMATICALLY unstruecrured UTTERANCE, usually consisting of a single
WORD, which is characteristic of the earliest stage of LANGUAGE leaming in
children?

1. Toponym

2. Vocalization

3. Pivot
4. Holophrase
Options:

B453502386591. 1
645350386382, 2
645350358633, 3
E4E350386594. 4

Question Number : 99 Question Id : 6463509828 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T =P ¥ SETES SfFd & gui & i v-anl A ER T m ER-A
foraef v wieg 21 2 iR 9 arae! | yra- it & wnfie uea &1 st 27

1. ®EEEH
2 e
3. FOE

4. OIS ¥en
Options:
64535038691, 1
64G35038692. 2
645350358633, 3
645350258694, 4

Question Number : 100 Question Id : 6463509829 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The argument, fram which it follows thar for langnage aequisition something must
supplement linguistic experience and the innate language faculty fulfils this role, is

known as
1. language faculty
2. poverty of the stimulus
3. cultural transmission

4. relativity hypothesis

Options:

64535038695, 1
4835038696, 2
45350235697, 5
64535038698, 4



Question Number : 100 Question Id : 6463509829 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
g, forad o geuifen g 2 % wrar-smis & fom umrt sy & S 3o s g
T AR A=ita v T A 59 i 71 9 e o 81 58w e 87

1. Y d&™
2. S &t fdEa
3. Aiwpide qEo

4. HriemE ufEe

Options:

64535038695, 1
64535038696, 2
64535038697, 2
645350358698, 4

Question Number : 101 Question Id : 6463509830 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
“‘It is most sane and sunly
and more it cannot die”

In the given verse, the word “sunly’ is an example of

1. analogy
2 llel:
2. parallelism
~ ;
3. neologism
4. metonvmy

Options:

64535038699, 1
4835038700, 2
4535028701, 2
64535038702, 4

Question Number : 101 Question Id : 6463509830 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

5T 59 ARE ¥ U T
IS A T S 3T
T8 | uell s fewe e ?
1 HiE=ddl
. HRE
3. awes-HEm
4w

Options:

4535038699, 1
64535038700, 2
64535038701, =
64535038702, 4



Question Number : 102 Question Id : 6463509831 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Machine translation in computational linguistics is metaphorically crowned with a
sarcastic remark as language on one side, garbage another side, because

1. machine translation needs better hardwared computers

(]

machine translation mainly targets word-to-word replacement
3. machine translation needs more manpower to process the data
4. machine translation creates a new form of language

Options:

435038703 1

64535038704, 2

E4E35038705. 3
EAE35038706. 4

Question Number : 102 Question Id : 6463509831 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
FrgeEre Hial-fwE F il e ®ue SR u, o dR FEe F e A way
feram e 2, it
1. HEiiHT A % o] F5av SI8aud It SFed HIOwWs §
2. wEli T g W SATe &1 a5 TEe §
3. HEHET HFEE H g9 & UeH & 00 HiUE 3 70 B HEwsdl §
4. T R WM A FIF g S
Options:
E4EZ2E0357032. 1
C4C35038704, 2
64635038705 2
64635038706, 4

Question Number : 103 Question Id : 6463509832 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following tools is most frequently used in computational linguisties to
gather huge data from the ‘web’ for creating big linguistic corpora for natural language
processing?

1.  Webcrawler
2. Wikipedia
3. Unicode

4. Thinktank

Options:

4635038707, 1
64535038708, 2
64535038709, =
64535038710, 4

Question Number : 103 Question 1d : 6463509832 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Frofafae 4 8 s5- to wnvids um vew & fo mer wrdt ot 9o & i dw @
fereret 2= vfam FA & R v wr-faame # sfiesie: an-ar wam e o &7

1. FE®heR

2. fagiditem

3. gfE

4. fimes
Options:

E4E35038707. 1
E4E35038708. 2
E4E535038705. 3
645350358710, 4

Question Number : 104 Question Id : 6463509833 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In translation a term refers to ‘the linguistic level at which 5T is re-codified inTL".
Select the comrect option which exmplifies the above mentioned term :

1.  the unit of ranslation
2. false-friend

3.  translation shift

4. meaning equivalence

Options:

64635038711, 1
E4E35038712. 2
64535028712 5
64535038714, 4

Question Number : 104 Question Id : 6463509833 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
srare A FpftfEa 4 | F-9 v ym-gnie wR e W Ik o S as W

peag oo wran & @1 gEi &7
1. 3 P g
2. frmfiE
3. gaTE o
4. 3 FogeTm
Options:

6453502358711, 1
E4E3503871z2. 2
E4E35038713. 3
E4E5350358714. 4

Question Number : 105 Question 1d : 6463509834 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



In translation ‘any TL text or portion of text is observed to be the equivalent of a given
SL text or portion of text’. Which of the following refers to this?

1. Fommal correspondence

2. Texmal equivalent

3. Linguistic affinity

4 Simultaneous interpretation
Options:
E4525028715. 1
E4E25038716. 2

E4E535038717. 3
645350358718, 4

Question Number : 105 Question Id : 6463509834 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TS # BT T8 W 915 A1 U @ e SR R M Wn vw o wue S Rs e
g T wr & O Preffae A 4 feud giftm &

1. TS FAged

2. IO GHGSAl

3. WE-AmtE SeEa

4. TR WSRO
Options:

645350238715, 1
645350358716, 2
64535038717, 3
E4E3503871E. 4

Question Number : 106 Question Id : 6463509835 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The translator offsets an imevitable loss at one pomnt in the text by adding a suitable
element at another point. Which of the options given below refers to this?

1. Compensatory translation gain
2. Lexical equivalence
3.  Translation archive

4. Translation plan

Options:

648350387191
E4E35028720. 2
64535028721, 5
4535038722, 4

Question Number : 106 Question Id : 6463509835 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



HjaTEs [l o WM W SUEd HaUd Wised Uia # fadt ue M W s g @
oiteR w3 &1 59 e & Profafe # # £ v woffts swqm &7

1. v arar o

2. ufess weagedl

3. aane sfimraT

4. HETE T
Options:

64535038719, 1
64535038720, 2
E4E35038721. 3
EAB3S038722. 4

Question Number : 107 Question Id : 6463509836 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

F.esearch on language of ads was initiated by
1. Marshall McLuhan
2. Geoffrey Leach
3. Nomman Fairclough
4. Guy Cook

Options:

64635038723, 1
64535038724, 2
64535038725, 2
4835038726 4

Question Number : 107 Question Id : 6463509836 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
g &1 s oR Wy 3 S e o fear?

1w A

2. wnsde

3. AR FeE

4. RFE
Options:

64535038723, 1
645350358724, 2
EAE35038725. 3
EAE35038726. 4

Question Number : 108 Question Id : 6463509837 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which among the following are used gquite frequently in the language of
advertisements?

1.  Verbs

2. Prepositions

3. Adjectives

4. Pronouns
Options:
64635038727, 1
64635038728, 2

BAE35038725. 3
645350358730, 4

Question Number : 108 Question Id : 6463509837 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Frafafae & 3 fas wdm Rt 2t v 8 ar-ar f o 7

1. fom
2.
3. fasm
4. FEW
Options:

EAE35038727. 1
BAE35038728. 2
64535038729, 3
64535038730, 4

Question Number : 109 Question Id : 6463509838 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Assertion [: Language is a social institution.

Assertion II : Humans are bomn with an instinct to leam a particular language.
Choose the correct option from the following :

1 T is true bue IT is false

2 T is false but II is true

3. Both!l and I are false

4. Bothl and I ave true

Options:

648350387311
E4E3E038732. 2
645350387322, o
64535038734, 4

Question Number : 109 Question Id : 6463509838 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



sfiem 1y Us Swfoe S8 2l
St 11 ;s et v faiy ot Wi @t Fufite wgfr aft 21
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2. 1 aafEgu s
3. ldRISFI TR
4. TR w8 &
Options:
£4835038731. 1
£4635038732. 2

E4E35038733. 3
E4E5350358734. 4

Question Number : 110 Question Id : 6463509839 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Asgsertion [ Competence refers to the svstem of rules which the speakers of a
language have mastered so that they are able to produce and understand
an indefinite number of sentences.

Assertion I - It is an important tenet of behaviourism.

Choose the correct answer from the following :
1. Tis false and IT is true

2. BothI and II are false
3. listrueand ITis false
4. Both I and I are true
Options:
646535038735, 1
64635038736, 2

64535038737, 3
E4E3503873E. 4

Question Number : 110 Question Id : 6463509839 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4 I1dRnGH R
Options:

64535038735, 1
64535038736, 2



EAE35038737. 3
E4E535038738. 4

Question Number : 111 Question Id : 6463509840 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Match List—I with List—II :

List—1 List-I1
(a) Referential function (i) Addresser
(b) Emotive function (i1} Code
(c) Conative function (iii) Addresses
(d) Metalingnal function (iv) Context

Which of the following combinations is comect?
L @Fav); (b)) (er(ui); (d)r-(u)
2. (a0 ) (eGi): (d-Gv)
3. (aH); eV (-0 (-G
4. (ay);, ®rGu); (c-av) (dHD
Options:
64635038733 1
64635038740 2

645350358741, 3
645350358742, 4

Question Number : 111 Question Id : 6463509840 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

-1 = -1 | gaftra =i :
-1 HHI-11
(@) WeHiws IEH i e
(b) S T i e
(&) Torurers wend Gii)  wiftE
(d) RIS v v) W
Frafofes & & S19-w gm wd &7

L @r@vlk (o0l (e)-ue) (d)-u)
2. (@) (G (i) (d-v)
3. (ar(uk (b)) (-G (di-i)
4 () (-Gidd (e)-Gv) (d)-0)

Options:

4535038739, 1
64535038740, 2
64535038741, =
64535038742 4



Question Number : 112 Question Id : 6463509841 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Asszertion I : Sign languages are fullv developed languages.

Assertion I : Sign languages have their own grammatical rules and a mental lexicon.
Choose the comrect option from the following :

1.  listmue and II is false

2. Ilistrue and [ is false

3. BothlI and IT are true

4. BothI and I are false

Options:

64535038743, 1
64535038744, 2
64535038745 o
4835038746 4

Question Number : 112 Question 1d : 6463509841 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
HiieE 1 Heg yre qula: fEefm v 21

HU 11 . a WTHISH & 307 T & e e AW 3 A Tes-5uE B 2l
Frofafae 49 v s gfu

. ITfRARITEE

2. HNEiERITE R

3. 1dRIISETARE
4. IdRUISEITGE
Options:

E4E35038743. 1
E4E5350358744. 2
645350358745, 3
645350358746, 4

Question Number : 113 Question Id : 6463509842 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Asgertion I : The field of linguistics, the scientific studv of human natural language, is
a growing and exciting area of study, with an impact on diverse fields.

Assertion IT : When linguists speak of rules, they are always refenring to prescriptive
rules from grammar books,

Select the comect option from the following -

1 Both [ and II are true

)
'

I i true and I1 is false
3. lis false and II is true

4. BothI and II are false

Options:



EAE35038747. 1
645350358748, 2
645350358745, 3
645350358750, 4

Question Number : 113 Question Id : 6463509842 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

i 1 w-faems =1 43 s Sl v &1 aofas enoms, ol swras &1
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2. 1 wEgaRI T
3. ITmagARIIwE R
4. I1RIIEHiToE§
Options:
435035747, 1
E4E25028748. 2

E4E35038745. 3
E4535038750. 4

Question Number : 114 Question Id : 6463509843 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match List—I with List—II :

List=I List=II
(a) Lungs ) Masal Resonance
by Glottis (i) Vowel articulation
()  Velum (iii) Phonation
(d) Tongue (iv)  Air stream

Choose the correct option from the following :
L (@) ®HGE: (-Gv); (-0
2. () (i), (e)i) (d)Gi)
3.0 (av): (b)) (e)Hid); (dHD)
4. (@) @G (e (d-iv)

Options:

64835038751, 1
64535038752, 2
64535038753, o
64535038754, 4

Question Number : 114 Question Id : 6463509843 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

-1 91 -1 | e Fife:

-1 FE-II
() Fw @ RS
(b) HEER (i) TN ITEIRT
(c) @A {iii) T (FHEE)
(@ fom (v) arg-waE
FofafEa 4 4 98 Gecy =1 994 Sifan:

L (i) (i) (e)-vd: (d)-0)
2. (@rGv) ®)GiE) (-G ()
3. (v )-Gi) (-G (d)-G)
4 (@) )G ()-Gii); (d)-(iv)

Options:

64535038751, 1

64635038752, 2

E4E35038753. 3
E45350358754. 4

Question Number : 115 Question 1d : 6463509844 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Assertion [: A sound wave is 2 travelling pressure fluctuation that disturbs the
molecules in the air.

Assertion II : The detailed analvsis of this molecular movement constitutes articulatory
phonetics.

Choose the comrect option from the following :
1. lis false and II is true
2. Both[and II are false
3. Both [ and II are true

4. listmue and II is false
Options:
64535038755, 1
64535038756, 2
4835038757, 2
64535035758, 4

Question Number : 115 Question Id : 6463509844 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64835038755, 1
E4E3502875E. 2
64535038757, o
64535038758, 4

Question Number : 116 Question Id : 6463509845 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Asgsertion I: Lexical rules may refer to morphological labels and thev cannot have
exceptions and also cannot apply across word boundanes.

Assertion II - Post-lexical rules cannot refer to morphological labels, and these may
have exceptions and also mav apply across word boundaries.

Select the correct option :
1. Tistrue and II is false
2. lis false and II is true
3 Both I and I are true
4.  BothI and I are false

Options:

E4EZE025759. 1

C4E3E02E7E0. 2

645350358761, 3
E4535035762. 4

Question Number : 116 Question Id : 6463509845 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
64635038759, 1



EAE35038760. 2
E4E535038761. 3
EAE35038762. 4

Question Number : 117 Question Id : 6463509846 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match the items of List=] with those of List=II in the comtext of phonological mule
interactions :

List=I Listi=II

(a) Feeding orderis if (i) Fule A decreases the number of the
forms to which mle B can apply
[the erder A-B)

(b) Counterfeeding orderis (i) Rule A decreases the number of the
if forms to which rule B can apply

[the order B—A)
{c) Bleeding order is if (iii} Fwule A increases the number of the
forms to which mle B can apply

[the order B=A]
(d) Counterbleeding order (ivi PBule A increases the number of the

is if forms to which mle B can apply
[the erder A-B)

Select the correct option :
1 (a)id); (b)) (e)-v); (d)-)
2. (i) (b)) (e)Hid). (d)iv)
(a)iv); ()Gi); (e)G); (d)-i)
4. (api) (Hv) () (d)-(m)

i

Options:

4835038763, 1
E4E3E50287E4. 2
64535038765, o
4535038766, 4

Question Number : 117 Question Id ;: 6463509846 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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veran & fo = Fram B o
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el fieen &1 903 Fifan

1. (@), (b)) (Gv); (dH-0)
2 (i) (i) -Gm); (dH-iv)
3. (arv); (b)), (e)-i); (d)-Gi)
4 (@) )iv); (eHi); (d)-ii)

Options:

64635038763 1

64535038764, 2

E4E535038765. 3
64535038766, 4

Question Number : 118 Question Id : 6463509847 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Assertion I: The feature [+ somorant] distinguishes obstruents from sonorant
consonants and vowels.

Assertion IT : All wvowels, glides, liquids, nasals and laryngeal segments are
[+ sonorant], while plosives, fricatives and affricates are [~ sonorant].

Select the comrect option :
1. Tistme and II is false
2. lis false and IT is true
3. Both[ and II are false
4. Both I and IT are true

Options:

64535038767, 1
64535038768, 2
64535038769, 2
E4E35038770. 4

Question Number : 118 Question Id : 6463509847 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
sfimyT 1. ow fvdeen [+ figa (W) fige oot &1 ot 9 gus St 2

st 11 . Wit v s, fafde. it oik wwda @ftfoam) [+ faga) @ wefes
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wel fawe =1 909 Fifen -
1. IT@RRIRII TR
2. IO ReRIIEAE
3. 1 dRnEAtmEE
4. IdRNIFATHE
Options:

EAEZ50387EY. 1
E4E35038768. 2
E4E535038765. 3
64535035770, 4

Question Number : 119 Question 1d : 6463509848 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A clitic is an obligatorily bound morpheme which is distinet from an affix because

(a) a chitic shows a low degree of selection for its host while an affix is very selective
for its host

{by a clitic is attached to a phrasal element while an affix is alwavs attached to a
lexical mtem

{c) a clitic most often has a full form, but an affix has no such form which may be

full morpheme
(dy a clitic iz mostly symtactically motivated while an affix is always morphological

Choose the correct option :

1. Only (a), (b) are true

2. Omly (c), (d) are true

3. All(a), (b), (c) and (d) are true

4. All(a), (b), (c) and (d) are false
Options:
645350387711
64G3503E7F2. 2
E4AR3E0ZR7YE 3
64535038774, 4

Question Number : 119 Question Id : 6463509848 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
64835038771. 1
64635038772, 2
E4EZEQZRTFFE 2
64635038774, 4

Question Number : 120 Question Id : 6463509849 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion I: A stem 15 the form of a word that only acceptsitakes inflectional
morpheme.

Assertion II - A stem forming morpheme (a stem extender) is a morpheme that
converts @ root-word into a stem to which inflectional markers of various
kinds can be added.

Select the correct option :
1. Tistrue and IT is false
2. Iisfalse and IT is true
3. BothI and IT are false
4. DBothI and II are true
Options:
E4E35038775. 1
BAG35038776. 2
64635038777 3
64535038778, 4

Question Number : 120 Question Id : 6463509849 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
645350387751
GAB3E0ZR7YE. 2
G4G3S0Z8777. 3
64535038778, 4

Question Number : 121 Question Id : 6463509850 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List-I with List-II

List=I List=II

(a) Infixation (1) An affix that represents
different grammatical
elements

() Portmanteau (ii) An affix that is inserted
into a root item itself

(c) Suppletion (i) An affix which s
mterposed after root

(d) Stem-forming morpheme (iv)  Allomorphemic variant of
(Stem extender) a morpheme which are
phonetically unrelated

Select the correct option :
L (a=(aid; (o)=(i); (ch=(iv); (d)={iii)
2. (a); (b)) (i) (d)-)
3.0 (@), (b (i) (d-(iv)
4 (a(av); () () (d-(1)
Options:
64535038779, 1
64635033780 2
64535038781, 3
E4B25028782. 4

Question Number : 121 Question Id : 6463509850 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Lo (), (b)), (v (d)(ii)
2 (aHv) (b)), (e)(i) (dHi)
3.0 (ap) (b)) (i) (d)-iv)
4. (@) (o)) (o) (d-()

Options:

64635038773 1

64635038780, 2

645350358781, 3
64535035782, 4

Question Number : 122 Question Id : 6463509851 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Aszertion I: Morphological productivity i a matter of degree in terms of generality
and thus no word-formation process 15 productive or non-productive,

Assertion IT @ Morphological productivity is 2 matter of symchronic judgement of a
word-formation process as a process which is very productive at some
point in History and may become less productive at another point in
History,

Select the correct option :

1.  OnlyIistrue

2, Omly IT 15 true

3. BothI and IT are true

4. DBothI and II are false
Options:
E4E35038783. 1
64535038784, 2
645350358785, 3
E45350387586. 4

Question Number : 122 Question Id : 6463509851 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
E4E2E035783. 1
64535038784, 2
64535038785, o
645350387586, 4

Question Number : 123 Question Id : 6463509852 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Examine the following ssntences :

(A) The bov broke the glass.
3 O

(B) The glass was broken by the bov.
g (0]

The following concepts emerge in linguistics on the basis of (A) and (B) :
(@) The S of (A) is both grammatical and logical subject.
(by The 5 of (B) 15 the logical subject but it 15 not a grammatical subject
{e) The 5 of (A) is not a grammatical subject but it 15 a logical subject.
(dy The 5 of (B) 15 the grammatical subject but it 15 not the logical subject.
Chooze the correct option
1. All the above are true
2. All the above are false
3. Only (a) and (b) are true
4.  Ounly (c) and (d) are true
Options:
E4E35038787. 1
64535038788, 2
646350337589 2
64535038730, 4

Question Number : 123 Question Id : 6463509852 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



yrur-famm & Frofafae smumom (A) SR (B) F YR W &4 21
(a) (A) T Bal EHUUE AR dlie® gl 2l

() (B) 1 Sl dlierd & (obg 95 AL 51 g1

(€) (A) S Hal AU 41 3 g T5 ale® 2l

(d) (B) I Fal PG ¢ fog Tg Al T8l 2l

R I g
1. I Wi v g
2. I9F W Tea §

3. () W) T
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Options:
64635038787, 1
64635038788, 2
64635038789, 2
64635038790, 4

Question Number : 124 Question 1d : 6463509853 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The process of causativization in lingwistics increases the valency of a verb, allowing
the valency to take fresh NF with a new agentive role as an argument. Such process can
be expressad
(a) morphologically
(b)  lexically
() periphrastically
(d) grammatically
Select the correct option :
1. Omly(a) and (b) are correct
2 Only (a), (b), () are correct
3. Only () and (c) are correct
4. All of the above are correct
Options:
646350353791 1
64535038792, 2
E45250287935. 3
E4E25035794 4

Question Number : 124 Question Id : 6463509853 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
64635038791, 1
64635038792, 2
64635038793 3
64635038794, 4

Question Number : 125 Question Id : 6463509854 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Match List-1 wath List-I1

List=I List=]I
(a) XP:(YP) X' (1) Complement rule
M X (@)X (i)  Adjunct nle
& X :X @™ (1)  Specifier rule
(d) X X(WPF) (iv)  Adjunct rule

Select the correct option :
L (&G, () (D (did)
2. (a)=(i); ()=l (e)=iv); (d=(1)
3. (a); (=), (e)-(id); (d)-{(iv)
4. (a0 (e); (o—(n); (A1)
Options:
64835033795 1
64535038796, 2
E4E25028797. 3
E4E250357908. 4

Question Number : 125 Question Id : 6463509854 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4. (@) i) (-Gi) (d)-0)

Options:

64835033795 1

E4E350387396,. 2

EAEZ5038737. 3
E4E350387398. 4

Question Number : 126 Question Id : 6463509855 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
Assertion I: The minimalist program mtroduces a functional category “TP" which
replaces another category ‘IP° because, the syntactic operations had to
shift the focus to ‘tense’ marking from agreement,

Assertion 1T : The minimalist program following Razi (1997) suggests that the
functional category "CP’ i3 not just one single projection, but it is a
series of projections.

Select the correct option -
1. OCmly I s true and II is false
2, Only 115 false and IT is true
3. Both] andII are true
4. BothI and IT are false
Options:
E4E35038793. 1
E4B25028800. 2
E4525033801. =
E4AG35038802. 4

Question Number : 126 Question Id : 6463509855 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
4350387599, 1

E4E35038800. 2
E4E35038801. 3
E4E35038802. 4

Question Number : 127 Question Id : 6463509856 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The syntactic orientation in minimalist program argues that instead of single projection,
the “‘CP* should function as a series of projections and they may be

(a) forceP
(b) topicP
{(c) focusP

(d) fint P (finiteness)

Select the correct option :
1. {(a)and (b) are correct
2. (b)and (c) are correct
3.  All are correct

4. All are incorrect

Options:

64535038803, 1
64535038804, 2
64535038805, 2
E4E35038806. 4

Question Number : 127 Question Id : 6463509856 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
645350388032 1
435028204, 2
64535028805, 2
64535038806, 4

Question Number : 128 Question Id : 6463509857 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match ListI with ListII :

List=I List-11
(2) Node )] Any node with no branch
undermeath
() Label (ii) A node with no line on its
top
() Rootoode (m) The end of a branch
(d) Terminal node (i)  The name given to a nods

Select the correct option :
1. (V) (B (e=n: (d-D
2 () (W) (e)iv); (d)-(iii)
3. (a)=(iv); (B)=(0); (ch={iii); (d)=(ii)
4. (a); (o)iv); (@) (@)
Options:
E4E35038807. 1
E4B25028808. 2
E4E25033809. 3
E4535038810. 4

Question Number : 128 Question Id : 6463509857 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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4. (ar); (b)-Gv), (e)-Gi); (d)-{)

Options:

64535038807, 1

6435038508, 2

4535038509, 2

64535038810 4

Question Number : 129 Question Id : 6463509858 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion I: In generative grammar ‘EPP’ entails that there must be a subject
(covert/overt) for every finite verb in a sentence,

Assertion IT : The requirement that every NP must have a case in order to become the
part of anv utterance is explained by case-filter.

Select the corract option :
1. [Iistrue and II is false
2. Tisfalse and IT is true
3. Both] and IT are true
4.  Both1 and IT are false
Options:
E4E35038811. 1
EAE3503881Z2. 2
E4E35038813. 3
64535038814, 4

Question Number : 129 Question 1d : 6463509858 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E4E35038811. 1
EAE3503881Z2. 2
E4E35038813. 3
64535038814, 4

Question Number : 130 Question Id : 6463509859 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match ListT with List1I1

List=I List-II
(a) Maxim of quantity (1) Be relevant
()  Maxim of quality (1)  Be perspicuous
(¢) Maxim of relsvance (iii) Be informative
(d) Maxim of manner (iv)  Make your ocontribution
one that 15 true

Choose the correct option from the following :
Lo (@), (u)=(ii); (c)={iit); (d)=(1)
2. (a)(i); (V) (-(D; (D)
30 (@) (o)1) (c)=(iii); (d)(iv)
40 (a0, (e, (A
Options:
64535038815, 1
E4B25028816. 2
E4EZ5038817Y. 3
E4E35038818. 4

Question Number : 130 Question Id : 6463509859 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4835038815, 1
E4E3E5028E816. 2
64535038817, o
64535038818, 4

Question Number : 131 Question Id : 6463509860 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List=I with List=IT :

List-I Lig-11
(2) Metonymy (0 Flour-Flower
by  Hypoaymy (i) Car-Whesl
{c) Homophones (i) King-Crown
(dy Meronymy (v}  Bird-Crow

Choose the correct aption from the following
Lo (@=(iv); (b)=(1i}; (c)=(iit); (d)={i)
(a=(and; (b)={1v); ()={i); (d)-(ii)
3 (@ (b)-); (e)=(iv); (d)-{iii)
4. (@) (0D (-0 (d-(a)

[

Options:

4835038819, 1
E4E35028820. 2
64535038821, o
4535038822, 4

Question Number : 131 Question Id : 6463509860 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1 (a)(iv): () (i) (dHD)
2. (@), (bav); () (d)-)
3.0 (a0 (G (eGv); (d)-(ii)
4 @Gy (biv); ()-); (dii)

Options:

64635038513, 1

64635038520, 2

64535038821, 3
64535038822, 4

Question Number : 132 Question Id : 6463509861 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion I: The relationship by which language hooks onto the world is usually
called sense.

Aczzertion I : The ssmantic links berween elements within the vocabulary system is an
aspect of their reference.

Choose the correct option from the following :
1 I is true and II is false
2. Ilisfalse and] is true
3. BothI and IT are true
4. Both] and IT are false

Options:

64535038823, 1
64535038824, 2
E4E35038825. 2
6453502358526, 4

Question Number : 132 Question Id : 6463509861 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535038823, 1
4835038824, 2
4535028825 2
64535038826, 4

Question Number : 133 Question Id : 6463509862 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion [ : Sporadic sound changes affect only one or a few words, and do not apply
generally throughout the language.

Assertion [T : We can predict which words 1o a language a sporadic change will affact.
Select the correct option from the following,

1. Both] and IT are true

2. Tistrue and IT is false

3. Iis false and II is true

4. EBothl and I1 are false
Options:
E4E25038827. 1
E4A535038828. 2
E4535038829. 2
64835033330 4

Question Number : 133 Question Id : 6463509862 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

4535038827, 1
64535038828, 2
64535038829, =
64535038830, 4

Question Number : 134 Question Id : 6463509863 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Assertion [: Regular sound correspondences constibute a strong evidence of genetic
affinity.

Assertion IT : While they are findamental to most approaches to determining language
families, they can be misusad.

Select the correct option from the following :

1. Bothl and IT are true

2. Tistrue and II is false

3 1 35 false and 11 35 true

4. Both] and IT are false
Options:
E4E35038821. 1
64535038832, 2
64535038833, 3
64535038524, 4

Question Number : 134 Question Id : 6463509863 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Hfimya 1: Frofia aegey af grew s aiie deam & T ol &1 789 39 81
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3 ITTAEARIATEE
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Options:

64835038831, 1
64535038832, 2
64535038822, o
64535038834, 4

Question Number : 135 Question Id : 6463509864 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List—] with List=II :

List=I List=II
{a) Situational code-switching (1) Change of topic is
mnvalved
(b) Dhglossia (1)  Often subconscions
(c) Metaphorical code-switching (i) No topic change is
involved
(d) Code-switchung (1v)  People are quite conscious

about the switch

Choose the correct option from the following :

Lo (@ (o0 (e (d)(i)
2. (aHiE); (W)-0v); (e-1); (di-id)
3. (a)=iv); (=i (o)=(iD); (d)=iii)
4 (aHmny; (e (=0 (d-(w)

Options:

E4535038855. 1

EAEZ5038836. 2

E4535038837. 2

64535038838, 4

Question Number : 135 Question 1d : 6463509864 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fef-1 Bt gE-11 & Ty gifte S
-1 -1
() hfRfies s dads @ o ofds mfim 2
(b) wmTEa () R A
(c) TUS HISUE i) famg ofads wftmadi 2
(d) @5 ofad Gv) Um ofmds & wdy #
et v B
w8 e =1 999 P

L @ ®)Gv); ) (d-G)
2 (i) (b)Gv); ()0 (d)i)
3.0 (ariv): (b)) (e)); (d)iii)
4. (@A) b)) (D, (d-v)

Options:

64535038835, 1
64535038836, 2
64535038837, 2
4835038838 4

Question Number : 136 Question Id : 6463509865 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Assertion I: A register 15 a conventional way of using language that 15 appropriate m
a specific contaxt.

Assertion II : One of the defining features of a register is the use of techmical
terminology.

Choose the correct option from the following :
I Iistrue and II is false
2. Tisfalse and IT is true
3.  DBoth] and IT and false
4. BothI and II are true
Options:
6463503358349 1
E45350253240. 2
E4525028841. =
E4E25038842. 4

Question Number : 136 Question Id : 6463509865 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
it 1 e yreT s &1 WRrTa aie & o Rty gl # v 2

sftuA 11 ;. Yores &1 ufvuyiita & arelt famaansi 3 9 U de-ta! yIe &1 whe
wEt fawey &1 997 Fifag:

1. IE@igaiiTeoa

2. I T eRIIEEE

3 IdRNIFwEE

4. IdRIIETwHE
Options:
E4B350335339. 1
E4E25028840. 2
E4E25038841. =
E4A535035842. 4

Question Number : 137 Question Id : 6463509866 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List-=T with Lizt=II :

List-I List-II

(2) Sociolect (1 Refers mainly to the way a

speaker  speaks o the
person with whom he is

communicating

(t)  Field of discourse (n) Refers to the means by
which COMUMITICAION
takes place, notably by
speech writing

(c) Mode of discourse (1ii) FRefers to a non-regional
variety based on social
class

{(d) Tenor of discourse (iv) Refers to the purposs and
subject matter of
commutication

Select the correct option ;

L (&); (L, (e)-(d); (d-(inv)

2 (@), (e (e)-0v); (d)(iin)

3. (a)(av); (b)) (e)-(1); (d){ii)

4. (a(aid); (b=(ivd; (ed=in); (=)

Options:

C4AE2E035845. 1
4525038844 2
4525038845 2
C4EZE03584E. 4

Question Number : 137 Question Id : 6463509866 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
efl-1 7 oy wet @ -1 # fag ==t & wiita S

-1 -1

OV @ @ sfimm e m=m oo
wiog & A9y TUEw S a9
g el ¢

) WifE-aF Gy ¥ fimm o maw 3 & s
T o o fofde ure @ S
o g @

() Wifea-gf i) W it wEfe @i
AT YE-UER 8

(d) VifEa-wafin (v) O90 F IEvg v fawg w9
ifipma &

we! fawey gfte:
L (@) @), ()G (d-iv)
2. (e ) (-Gv); (d)-Gid)
3 (aHiv); (o) (i) (dHi)
4 (a)H); b)iv); () (D)

Options:

64535038843, 1
64535038844, 2
64535033845, 2



EAE35038846. 4

Question Number : 138 Question Id : 6463509867 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertton [ : A vanety of language comsists of a set of lingstic items with simular
social distribution.

Assertion II : The definiion given above does mot, for example, consider London
Englith and English of foothall commentaries as varisties.

Select the correct option
1. Tistrue and II is false
2. Tisfalse and IT is true
3. BothI and IT and false
4. BothI and IT are true
Options:
E4EZ5038847. 1
E4E350238848. 2
E45350238845. 3
64535038850, 4

Question Number : 138 Question Id : 6463509867 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
sfumuE 12 el wwver & st s9= amifas e ard wiftes wel & s9=a

a2

s 11 - afvwren, Serevony, wes F i vd peatn e @) 9t sish
= EEET Gl

T i gy :

1. 1Tt @RI em
2. 1 TemEINIIuEE
3. EETI I Ten ¥

4. dEIARIERE
Options:
64535028847, 1
64535038848, 2
64535033849, 3
64535033850, 4

Question Number : 139 Question Id : 6463509868 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Assertion I: A speech community may be defined by the whole set of people who
communicate with each other only directly and not indirectly.

Assertion I : A speech community is characterized by regular and frequent interaction
by means of a share body of verbal signs and set off from similar
aggregates by significant differences in language use.

Select the correct option :

1. I is true and II is false

k3

1is false and I is trus
3. BothIandII and false
4. BothIand II are true

Options:

64635038851, 1
E4E3S5038852. 2
4535028852 2
645350238854, 4

Question Number : 139 Question Id : 6463509868 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

i - fordt o T+ sofeadt % 99 o= & ofvwfie fem o 99 & &
TR, S0 Wl S 8, S T

iy 11 . dtas w1 v e Hafte vd o srafor g @t fs
a@ﬁﬁ%mﬁmm%mmmﬁwmﬁ
HEEUT ST G e B B
w8 frer af:
1. IT@gaRIITTm e
2. I mEEARIIEaE
3. EEtIARIImTRE

4. FHIMRITHE
Options:
64535028851, 1
64535028852, 2
64535038853, 3
64535033854, 4

Question Number : 140 Question Id : 6463509869 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Mateh List—T with List-II -

List=] List=II
(a) Language Universals (1) Vennemann
(b} Branching Dhrection Theory {it) Greenberg

(¢) Head Marking and Dependent  (iii) Keenan Comrie
Marking

{(d) Noun Phrase Accessibility (iv) Mathew Drver
Hierarchy (NPAH)
Salect the correct option
1 (@=an); (b=i); (c)=(ini); (d)={(iv)
L (@) () () (d-(i)
3 (@ (), (i), (d)-iv)
4. (ami) (- (e (d-0v)
Options:
E4535038855. 1
645350358856, 2
E4B25038857. 3
E4535038858. 4

Question Number : 140 Question Id : 6463509869 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Hef-1 31 gfi-11 gak g :

-1 Tft-11
(a) wr aEHE @
) e e Rt )

() wE-mifen o snfim fea i) fFT S
(d) "m ug sfifmmen sfiew  Gv) B gIEem
(@ & 7.7
i Rew = 937 Fifen -
L @i 0 (-GiD); (d)-Gv)
2 (i) (b)iv): (L) (d)iii)
30 (a)d); )i, (eGi); (d-iv)
4. (i) b)) () (d)-Hv)

Options:

4535038855, 1
64535038856, 2
64535038857, 2
64535033858, 4

Question Number : 141 Question Id : 6463509870 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Aszertion [: Tvpologists such as Schlegel and Humboldt could predict as early as in
1800s that languages do have an abstract organic umty.

Assertion Il - Humboldtian claim that differences among languages reflected basic
difference in the mental life of various speech commumities can still be
useful to modern linguistics.

Select the corract option :
1.  Culv I s true and IT 15 false
2, Only 15 false and 1T 1= true
3. BothI and IT and true
4. Both 1 and IT are false
Options:
645350388549, 1
64535038560, 2
E4EZ5038861. 3

EAE35038862. 4

Question Number : 141 Question Id : 6463509870 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Hpu [ wFu-amie! a8 T 7 FEes 4 1800 # & ag wamn fF vmnst
WIS S/aadl Uedl gl 21

sy I ;. grares & od o wmrs # T fafts wman @eet & aafye oftas d
m;ﬂaaﬁmgaﬁmm-amﬁaﬁmwtﬁMﬁmm
el &l

Tt fawea =1 997 S
1. o 19 e SR I
2. Hawl Tod & AR I wE R
3 IeRIIGH a8
4 IRNIFFATEE

Options:
4235038559, 1

EAE35038860. 2
E4E35038861. 3
E4E35038862. 4

Question Number : 142 Question Id ; 6463509871 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The so called “basic/default word order” of a language can be determined by

(2) pattern congruity

(b} frequency of occurrence

(c) marksdness principle

(d) pragmatically neutral context

Select the correct option :

1.  Omly (a) and (b) are comrect

2. Oumly (b), (c) and (d) are cormect

3. All the above are correct

4. All the above are incorrect
Options:

B4535038863. 1



EAE35038864. 2
E4535038865. 3
E4E535038866. 4

Question Number : 142 Question Id : 6463509871 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
I F ATl o /mfaeE Te-me & feas gr Ruffe fem e g

(a) afr==n affa

(®) T o

(c) e fgta

(d) oneffEm 8 gy dg

Tt freeg =1 999 #ifeg -
1. +9 (a) AR () TAHE
2. FEa (b), (c) 3N (d) FEE

3. Iwged ot wel E
4. Iofed mit e #
Options:

64535038863, 1
64535038864, 2
64535038865, 3
EAE3503886E. 4

Question Number : 143 Question Id : 6463509872 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In many South Asian languages, a subject may mot be marked as a nominative case
{covert/overt), and in such context, the subject of the sentence is knovwn as

(a) non-nominative subject
(b) experiencer subject
() dative subject
(d) obligue subject
Select the correct option :
1. Only(a) and (b) are correct
2. Only (c) and (d) are corract
3: Only (a), (b) and (c) are correct
4. All the above are correct
Options:
64535038867 1
64635033868, 2
64535038869, 5
E4EZ50285870. 4

Question Number : 143 Question Id : 6463509872 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



=@ gl v yrnsl § sdl ®1 Salens veyEap) ik 78 G o 9 2108

el Haren F oo s R o &7
() T-FaiERE F4i
()  Srgydt @l
() TWEE Sl
(d) faorl Hal

Tl fweq &1 909 Hifag

1. ua () ARG TEE
FI () ()T E
3. HEa (a), (b) S () WA E
4. T ot @
Options:
64635038867 1
54635038868, 2
546350385869, 3
54635038570, 4

[ %)

Question Number : 144 Question Id : 6463509873 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Assertion I: In typology, morphological typology classifies languages into different
types on the basis of how much and what kind of morphemes (free,
bound, portmanteau) are used in them.

Assertion IT : Despitethe best efforts huge corpus and rigorous training. typology can’t
classify languages into discrete morphological type.

Select the correct option :
1. I is true and II is false
2. IIistrueandIis false
3. BothIand1l are false

4, Both I and II are true

Options:

64535038871, 1
E4E3S038872. 2
64535028872, 5
64535038874, 4

Question Number : 144 Question Id : 6463509873 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



sfmus 1: weu-fawe # v oisoers weu-faas smaedt &t fafis wedt & 59 anwm
;aﬁgiggqm%ﬁha?ﬁﬁﬁﬁa&ﬁﬁﬁﬂﬁﬁﬂaﬁﬁmnﬁﬂﬂaﬁﬁﬁmaﬂ
|

sfiuR 11 :  Tafas v, e ardt i SaR uiem & araue veu-faam ymst &
E U WS W H iied 78] 1 9adl ol

e faesn &1 394 Fifan
1, 198 iR I o B
2. I sRgsiRITEa
30 IdRndE mm e
4 IR EHI a8 &
Options:

B4535038871. 1
64535038872, 2
64535038873, 3
64535038874, 4

Question Number : 145 Question Id : 6463509874 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Match List—I wath List-11
Lizt-1 Lisgt-II
(a) Broca's aphasia (i) Predominant grammatical
impairment

(b} Wemnicke's aphasia (i)  Disability affecting
reading and writing

(c) Dnslexia (i) Fragmentary nature of
speech production

(dy Apgrammatism (iv) Severe loss of speech
understanding

Select the correct option :

L (@i (e=(iv); (c)=(iid); (d)-(1)
(@)= (={(av); (e)={(n); (d)=1)
3. (@) G (e (d-iv)

b

4. (@G (v (O (dii)
Options:
64535028875, 1
64535038876, 2
64535038877, 3
64G3503887E. 4

Question Number : 145 Question Id : 6463509874 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 % -1 ghfew ifer -

-1 I
(a) IS B HIHTHS i) V@ S g
(b) o =1 yEEE (i) oo, faER uEA MR
T I B 8
(©) e Gi) @ gah = e Wy
(d) == SR (v) T THF B i wfy
Tl fowen &1 904 St

L (ara) (b)av) () (dr-{)
2. (aiik -V (e (d-6)
(a)0); ) (e)-i); (di-iv)
4. (i) vy (-0, (d)-)

EUJ

Options:

4535038575, 1
64535038876, 2
64535038877, 2
64535038878, 4

Question Number : 146 Question Id : 6463509875 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match List—I with List-1II :

List-I Lizt-II
(a) Total physical responss (1) Charles A Curran
method
(b) The silent way (1) Georgi Lozanov
() Community language (i) Caleb Gattegno
learning
(d) Suggestopedia (iv) JTames Asher

Select the correct option :
Lo (aH); (b)-(iv); (ed-(il); (d)-{iif)
2 (i) (o)) (c)=(iii); (d={iv)
3. (a)av); (o)(i); (e)=(1); (d)-(it)
4. (ay(iidd; (b)=(i); (ed={iv); (d)=(1)
Options:
E4E35038879. 1
E4A535038880. 2
64635033881 2
64535038882, 4

Question Number : 146 Question Id : 6463509875 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FEI-1 =1 gEi-11 ot =ifee

-1 -1
() Fom A s fafy 0 =i
b) I R E e d) () i deEn
(c) WTgEIfT= M1 HfwTH (i) om e
(d) Werenafsm (iv) R
T8 ey %1 997 S

L (@) (b)iv): (i) (d)(ii)
2. (@A) ) (G (dHGv)
3. (a)r(v) (e)HGi) (e)-G) (d)Gi)
4 (arGu) ) (e-Gv) (i)

Options:

E4E250288759. 1

E4E25038880. 2

64535038881, 3
64535038882, 4

Question Number : 147 Question Id : 6463509876 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match Last-T wath Last-I1 ©

List=] List=II
(a) Simplification (i)  Refers to the process of self-
organization of grammatical
imowledge reprassntations

(b} Owergeneralization (ity Refers to the process that is
called upon when message must
be conveyed with little language

(c) Restrucmring (iii) Refers to the fact that progress
does mot always franslate inkto
accuracy of expressions

(d) Unshaped behaviour (iv) Refers to the application of a
form or rule not only to contexts
where it applies but also to other
contexts where it does not apply

Salect the cofrect option
Lo (@), (W) (e)-(avD; (d)-{i)
2. (&={i); (b)={iid); (c)=(ii); (d)~(v)
30 (@) () (e)(aid); (d)(i)
4. (@ (v (o) (d)-(ii)
Options:
E4525028885. 1
E4E25038804. 2
E4535038885. 3
64635033856, 4

Question Number : 147 Question Id : 6463509876 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Feit-1 Ft =11 it Fife

- -1

(2) WEAEO (i) UE Tete IE fAETm § |-
WA Ve S el

(&) fS S (@) T8 9 w9 ¥ wifm & fomet
I a8 9501 § 0F Harg MW
% T wiifE g 2

(c) oFERE (i) UESH oW § gafta 2fE smE &
FeaEy sfienfaa d vt
el ot 2

@) FRSR TR Gv) T ot v o Praw & g @
Hafir 7d 2 a% Few s o
ey # 8 afer s e H R 2
WE! U W TR g

T e &1 94 Fifag

1 (@), ), e-iv); (dHE)
2. (i) i) (i) (d-iv)
3. (@) 0D (e (d)Gi)
4 @)y @) (-0 (d)-GE)

Options:
4235038553, 1

EAE35038884. 2
E4E35038885. 3
E4E535038886. 4

Question Number : 148 Question Id ; 6463509877 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—T with List-IT

List=I List=II

(@) Grammatical competence (1) refers to interpretation of
individual message elements in
terms of their inter-
connectedness and how
meaning 15 represented  in
relation to the entire text

(b} Sociolinguistic (ii}) refers 1o coping strategies that
competence commumecators  employ 1o
imitiate, terminate, maintain,
repair and redirect

communication
(c) Dnscourss competence (i) refers to an understanding to

social context in which
commumication takes place,
meluding role relationships, the
shared information of the
participants and the common
purpose of their interaction

(d) Strategic competence (1) refers to Chomskyan linguistic
competence and it is the
domam of grammatical and
lexical capacity

Select the correct option :

Lo (@) (b)) (=00 ()

2. (@ (V) ()-{(u); (d)-{m)

3. (@i); (R)=(i); ()=(v); (d)={1ii)

4. (@=(u); (o=(an); ()=(1); (d)={iv)

Options:

E4635038887. 1
E4E635038888. 2
E4E835038889. 3
E4635038590. 4

Question Number : 148 Question Id : 6463509877 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 @ G-I Fhfta @ifemg :

-1 -1

(2) TS &l (i w%ﬁﬁﬂwﬁwwaﬁﬁq
¢ WA g6y R oE &
oy # gue ad-Freom s e 3
i

(b) wofes werl g i) g% 39 WHIfG F 9o § d9dita
& dims 90T Ry &1, 9
F44, B0 TEA, TG §4 AN
:FEfE w1 & P s §

(c) wifeEa amman (iii) ugmrﬁﬁﬁaﬁaﬁw%wﬁa%

forent <o gien 21 594
ufawfird] 1 T a?ﬁaq'aﬁ
s=a:ferm ¥ Svofiye wies oitm &

(d) TUFITaS sma (iv) U OT=S! S e yHe § Hefia 8
R U wERE AR SesrEig
& B & B

o# e =1 TTw Fife -

L (a)v); (b)Gid); (e)-(); (d)(Gi)
2. (aHi) (e)Hiv), (e)); (d)iii)
3. (apHi) ()i (ev); (d)iii)
4. (i) (b)) (- (dr-iv)

Options:

64535038857, 1

64535038888, 2

6435038889, 2

E4AE2E02EE90. 4

Question Number : 149 Question Id : 6463509878 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion I: Fossilization refers to the fact that second language leamers, unlike first
language leamers, sometimes seem unable to get rid of non-native-like

structures in their second language despite abundant linguistic input over
many years,

Agsertion IT @ In the context of leaming being viewed as the movement from controlled
to automatic processing, fossilization is seen to arse as a result of a

controlled process becoming automatic prematurelv before it is native
like,

Select the correct option :
1. Tis falze and I is true
2. listrue and IT is false
3.  Both![ and IT are false
4.  Both [ and II are true
Options:
645350385891, 1
646535038592, 2

645350358833, 3
6453503588394, 4



Question Number : 149 Question Id : 6463509878 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

iy 1. erwdtves = oo 59 aw 3 & e mum s it @ firm Rt s
sifermreat ot Hv-wdt 7% ol & sate yerd semE-wEE $ Taeg awt
gt v # waeEh Ui # gav Seget | geer o | ey wid g £

U 11 :  SfEnTe &1 e | @i wed | 4uod & ©9 3 0| o @ e J
Frifia ven & e W, 2w 39 8 o § w89 § wowey
yofve goE g B

w8 fawe =1 999 e

1. I mmEdRIERR
2. 1 wgR Il TeE
3. I aRIEFmEE
14, IRUEHT TR E
Options:
64635038891, 1
64535038892, 2
64635038893, 3
64635038894, 4

Question Number : 150 Question Id : 6463509879 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Assertion I: Scientific and techmical dictionaries provide sciemtific and techmical
lexical entries,

Assertion I1 : Scientific and technical dictionaries provide detailed grammatical
information.

Select the corract option :
1. Bothland IT are tue
2. Tistrue and IT is falsa
3. 1isfalse and I is true
4. BothI and IT are false

Options:

4535038895, 1
64535038896, 2
64535038897, 2
64535033898, 4

Question Number : 150 Question Id : 6463509879 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
sfi@yE 1. 3 SR aeie! Teaem duHe AN Ga-iet S Wapal &3 &

HUFUR I A iR aaite! Teaeie wetd @1 [9%gd aHER! Wer &4d ol
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1 13RI g ot &
2. I W@EMRII AR
3. I TaEdARIIaE?
4, 13RI 31 Ted §

Options:



E4E35038895. 1
E4E5350388396. 2
64535038837, 3
64535038838, 4



